HALLTICKETNUMBER,

- 8. No. 79 9 97
(To be filled in by the Candidate) C
Set Code BOOKLET CODE
L2 | - Sipnature of the Invigilator

10

il.

INSTRUCTIONS TO THE CANDIDATES

{Read the Instructions carefully before Answering)

Separate Optical Mark Reader (DW} Answer Sheet is supplied to you along with Question Paper
Booklet. Please read and follow the instructions on the OMR. Answer Sheet for marking the responses
and also the required data, :

Candidates should write the Hall Ticket Number only in the space provided on this page and on the
OMR Answer Sheet. Do not write the Hall ticket number anywhere else.

Immediately on opening the Question Paper Booklet by tearing off the paper seal, please
check for () The same booklet ¢code (A/R/C/D) on each’ page, (ii) Serial number of the
Questions (1-160}, (iii) The number of pages and (iv) Correct Printing. In case of any defect,
please report to the invigilator and ask for replacement with the same booklet code within five mimres
from the commencement of the test. :

Electronic gadgets like Cell Phone, Pager, Calculator, Flecronic watches and MathematicalLo 2 Tables
arc not permitted into the examination hail.

Darken the appropriate circles of 1, 2, 3 or 4in the OMR Answer sheet corresponding o correct or

the most appropriate answer to the concernad question mumber in the sheet. Darkening of morc than

one circle against any question automatically gets invalidated.

- Rough work should be done only in the space provided for this purpose in the Question Paper Booklet.

Once the candidate enters the Examination Hall, he/she shail not be permitted to leave the Hall tili the
end of the Examination.
Ensure that the Invigilator puts his/her signaturc in the spacc provided on Question Paper Booklet and

the OMR Answer Sheet. Candidate should sign in the space provided on the OMR. Answer Sheet and
filled in application form. -

The candidate shonld write the Question Paper Booklet number, OMR Answer Sheet number, sign in

the space provided in the Nominal Rolls and affix the left hand thumb impression in the nominal rofls and

filled in application form. :

Refun the OMR Answer Sheet to the [nvigilator before feaving the exarnination hall: Failure to feturm
the OMR Answer Sheet is liable for criminal action, The Question Paper Booklet shall be 1aken out by
the candidate and should be preserved till the declaration of results. :

Filled-in application form shall be submitted to the nvigilator in the examination hat], In casc of
SC/ST candidates attested copy of Caste Certificalc should also be enclosed along with filled-in

-application form,

This Booklet consists of 61 Pages for 160 Questions + 2 Paées |

of Rough Work + 1 Title Page i.e. Total 64 Pages.

AM 2016 - C

bsgal sc

SEa, 3E

BTA Sk

BEAL SE

EEAL 3F
o

g€
sEa. AL
. SEALSE
AEAL &€
SEML 5E
SEA. SF
SR

Qcollegeduniaé



[ SetCode | C-.

Time : 3 Hours : _ Marks : 160
Instructions : '

(D)
(i)

Each question carries one mark.

58 HH% 28 Srdy, Sok. -

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number ¢oncerned in the OMR Answer Sheet,
separately supplied to you.

QS 2yS B8 PHSH vlwdS O $oGE HEPFES0S SRNED oA Srdos
oo 1, 2,3 8¢ 4 Storr 208 OMR 3srgrsd SigSns® BH% Somofodd Sopgie

S8 ar/erE ord Srowodd "‘.Ja'xa GIErRD Dosssd.

BOTANY
1. Match the following. o
' - List] - Listll
A) Climaxcommunity I) Prolonged periods of drought
B) Victoria regia II) Photosynthesis by flattened stem
C) Opuntia “IIl) Finalplants which are near equilibrium with the environment
D) Casurina - IV) Roots fixed to substratum and epistomatous
BB G500 |
- TS S BgsTI
A) &85 dodo ) B550¥ worgrd HoPow |
B) o860 sgair I} %k:ieaamgéoﬁ:vﬁ@cﬁa BHY 2BIRHPT Hod TosSw
C) edQats HI) D568 F0308 $ERBS BHST HI) Too
D) sagar IV) 35y S0,886° LhEDP, GuIens Sodoiwee
Identity the correct answer - - |
HOGE SErErSS0 ABowin.
A B C D
l(})/ m v I 1
(2) I IV i I
(3) I Il I v
4y [ I |\ 1|
Rough Work
3-C | ' AM 2016
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2. Match the following, |

List] ~ ListII | _ ListIl
A)  Absorption phase i)  Assemblage of virions I) Complementary
‘ - receptor sites

B) Lytic phase ii)  Tail core is driven in I) Eclipse period
' through the bacterial
' cellwall
C) Matrationphase  iii) Contactbetweenphase I Lysozyme
particie and bacteria
D) Penetrationphase  iv) Cellwall dissolution [V) Tail sheath
2ESEWBIS50 . |
HgE T 588 11 - K I
A) @aFhe df )  DochSer Srgwdoaron D’ doFesirs e
B) 290 il) &% Fo& grio w‘gﬁo‘.ﬁaﬁob ) %584
eddg ¥ Sagduin ao S'08
SENFR Fdod
C) O88% i) & JswoHeo Sodasn o) S>r=al -
a§dciren $85do

D) ©34d@ah V) S@ESSo SAOFHE V) &% &b
The correct answeris . '
350 eond HIPTEI0 HBoHHED

A B . C D
(1) i IV I,
> 20015 GRS | G 1 1) SR % \
3y il I ivII I ii, IV

@ mIV i, IIT i, 11

Rough Work
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3. Maich the following,
List] _ ListII :
A) Tracheds I} Cellsposses highly thickned walls with oblilateral central lumen
B) Vessels I} Elongated tube like cells with thick lignified walls and
Lo tapering ends
C) Xylemparenchyma M) Individual members are mtercannected through
' ~ perforations in their common walls
D} Xylem fibres IV) Cells are living with thin celfulosic cell walls
BEL G50,
De3E 1 SIALR
A) =% Smreny ) B §doren 98 Dodod® Hob, @9551%‘500 a&éﬂlrr g
o ESoudomr BN Fotrown
B) =& areren ) Swren FEHm, Fyooem, 08208 OB PodR Ew
gdaoo 500, Fen, S5 .:J‘&n" QoL
) o 533663 §maawo ) Soresren od3 @Sl Edved’ dogre o wEorS’
. 88 Jowogio 5§ doiron
D) ot e V) Be0id eogs™E Swm éﬁa‘w S0 JES Eeren
A B C D
A1 W W I
2y I W1 m
‘G M 01 IV
4 o m 1 N
4. TACAAAGGGTTTCAACCC-ifit is the sequence of nucleolides in a DNA strand, then

predict the sequence of aminoacids found in a protein formed from it.

- (1)__Proline, phenylalanine, lysine, methionine, glycine, valine

Methionine, phenylalanine, glycine, valine, lysine, proline
(3) Valine, glycine, proline, lysine, phenylalanine, methionine

(4) Methionine, phenylalanine, proline, lysine, valine, glycine

TACAAA GGG TTT CAA CCC - $ SriieBhe Sthodgso SO D) &ﬁ DNA 25
W0 R @RS DT wire 5B Eirdy) @irotod.

(1) @85, 3352005, TH5, 28EFI, o8, 08

(2) RIS, HZEIOAS, BHE, 08, S5, @85

(3} o904, RS, @88, 6«35 PIOIVAR, HBPIS

(@) 2:BERDS, 5005, 83, BO3, :OS, PRS

5-C | AM 2016
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In a series of reactions during carhon fixation, 'A’, a six carbon compound reacts with a
g p

~ three carbon compound to gives rise ‘B, a four carbon compound and 'C’, five carbon

compound. ‘B’ reacts with a three carbon compound to form D, a seven carbon compound.
'D' reacts with a triose to form two molecules of 'E', five carbon compounds.

Identify reactant with 'B' and enzyme involved in the formation of 'D' respectively

(1) G-3.P;Aldolase - (2) DHAP;Aldolase

(3} - Erythrose ; Transketolase (4}~ Erythrose ; Aldolase

8 DS 2BHHIYD, SHOED BEFOSTA, 08 6h shTeo S Hagsn, Srd
$6S emoHen S Sogsnd $O5utd B! ol sronth K68 smpen So SorgSnd
- H00% 'C ol 265 K65 emoden DAL IoGSNH AGYBs0. B! X058 Sk EGyS
vePHen So Sorgins” Sogudd D' o b 6 s o BErgHn Iy,
D' &8 aGra8" g 20D, ot 6iTven o Todo 'E' SErgine J8Es .

& $8god* B & Sigucd dwgsnd Hoohs D' dgydhtedt TS @ SOB
(1) G-3P;usBE _ (?) DHAP;esg8& = '

(3) d0S°F ; LrSerdE (4 Q05 ; B8

Maitch the Microbes with the commercial industrial products -

: Ligt-1 List-1I " ListITI
(A) BOD 1) Supernatant as effluent I} Useful aerabic microbes
(B) FLOCS i1) Measure of Organic Matter I} All settled solids
(C) Primary iii) Masses of bacteria ) Methane, hydrogen
Sludge assoclated with fungus sulphide, carbon dioxide
(D) Biogas iv) Anacrobic sludge digester  1V) Polluting water has more BOD
2ESE8%0. ‘ .
Se5% -1 2e38 - 11 888111 . _
(A) 238>ahd i) P oddw 8P Sggo D) SaRed8d s aroiodird
@roarcind) SrgEHe
w3580
(B) Scrgidde i) 48 Sz Hodrmo I} edatHhisgs) SoSHTgeo
moRen : '
(C} >rdang i) wr§ocs> Sdorden ) B8, TEeS SByb
ddorgo 300|85 Sodhieo Jowoiio "R E
D) adrrgd V) sso 08 5-30f V) JE9,5 BOD sentyg #60
» 235 3SsEen _ '
The correct match is -
DOWoND 2 Etosn ' ‘
(A)  (B) () (D)
(1) i,Iv  §i,I. il IO
(2), i, LI I IV
F LIV L I i
4) Wi Im IV il LI

6-C
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7. Assertion{A): Sugarbeet, Cabbagé Carrot like plants are monocarpic
Reason(R):  Both vernalization and photoperiodism, are related to flowering
AT} (A) s true, (R) is true, (R) is correct explanation of (A) |
(2) Both(A)and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true but (R} is false
(4) (A)is false but (R) is true
Ao (A): 2iGHES, vhe, 576 S0 Hobes DESwTe.
50 (R): IGZHAS 8050 5708 550, Dok Syfisiotrren PRGBS SonofodSD,
(1) (A)ySovoio (R) e $0g052, (R) 050358 (A) & 565308 D50 |
(2) (A)Zobain (R) w0 8808 50 (R) 95058 (A) S 86308 256w 6
(3) (A)36E58 =2 (R) $6&088 56k
(4) (A)DOgIB 5% (R) 285058

8. Assertlon (A): Virus free plants can be produced from vnrus infected plant by means of
meristem culture.

Reason (R):  Virus fails to grow during the growth of host tissue in the artifi cral medium.

(1Y (A)and (R) are true (R) is cotrect explanation of {A). '
- (2) (A)and (R) are true (R) is not correct explanation of (A).

(3) (A)istrue (R)is false.

(4) (A)is false (R) is true. ‘ ,

VPso (A): 263 RS oo Hod Igrag fwere S¢So oot B6S FED

| S o &8 Doy, |

s*wo (R):  £y8s 98 odrdgo D w8Fcw Enmroo eacbfi)cie)@‘ Fen 36T

Db sdid.

(1) (A)%odosn (R)e.*o 2B (R) 0ol (A) % c‘.’)bcﬁoéﬁ HGeo.

(2) (A)Sodosn (R)eo 80&82 (R) wiss (A) & S0G0% dssm s,

(3) (A)%B&56 (R) £65058 5%,

(4) (A)30&88 5 (R) S0G056.

Roungh Work

7-C ‘ o AM 2016
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Identlfy the wrong statements

(A) The substrate binds to the active site of the enzyme and not fitting into the active site:

(B) The bmdlng of the substrate induces the enzyme to alter its shape.

(C) Chemical bonds ofthe substrate break down not to form new enzyme - product complex.

(D) The enzyme releases the products of the reaction and runs through the catalytic cycle
once again.

Sy Laﬁb:ﬁom oBoRdw.

(A) %g;’m‘go SeBN Basrie %506‘ 2oRER Fbod 58050 TISE aBIE:.

B) ogRdgo Qoaéoné‘ DORE[ Hugd J0ED 65" Srdnd (WohoHs,

(©) @aszg:;wgénes‘a E>as wogpren DQ}SS»O 8500 Jod ISFN - 693&3 $o8io
Qydea.

(D) Q08Z iﬁdgeﬁ‘a ﬁ@ﬁ&a‘oaﬁ) Ao Vi BON w@UE z‘.SL'S"Ql @*602):630&

(1) AC @&BD . () a,p @) AD

10.

Identify the wrong statements. .

A)  Genetic modifications in plants helped to reduce post harvest losses '

B) - InTobacco plants 'Cry' gencs are introduced against nematodes

C) Gene therapy is to be taken for infectious diseases, where genes are inserted into
person's cells and tissues to treat diseases.

D) Injustice, inadequate compensation and benefit sharing are related to molecular diagnosis.

DOTR argpgoin HBowed.

A)  udog Sr8)8 I 0d" Balntr Sol Soby 58 Joxd woh 5%@2&3 é;}oﬁﬁzﬁat).

B} oo Anfed® DEEEs Sg8dtorr Cry' of sfgfed @3vnipsh.

0 a2dg D84 ebHSB Sl Tgdeld D8 Dosod §do as&’x:gz‘é)v:&a - 554,
Eno S Soroos S (FIeHTH:G5.

D) eageso, FOTOD SHHOTE T, argre 0BT @HHD ©EOATSE éoeao&oi’).ﬁa

(1) A,B,C (2)~ B,C,D 3} AB,D (4) A C,D

11,

Assertion (A) Acidic pH of the insect get converts inactive Bt toxin into active form.
Reason(R):  Most of the Bt toxins are insect group specific,
(A) and (R) are true (R) is the correct explanation of (A)
(2) (A)and (R)are true, but (R) is not the correct explanation of (A)
(3) . {(A)is true but (R) is false
(4) (A)is false but (R} is true

Agso (A): oRTITESD el hwo o pH & at?a{roﬁs‘é&é Bt érsc)&‘\) @m%v%m
. _ SrSdg00.

sdwo (R): oo Btirgd SLg Srde 838 Soi Hotrown.

(1) (A)0805 (R) &0 %0g053 (A) & (R) $0H3 I365

(2) (A)5980%3 (R) o 5663050 £ (A) & (R) S0 Dt 5°6:

(3) (A)I8&%6 52 (R) H0Go88 5765

(4) (A)$0G0SD 5t £ (R) $6@E0SH

$§-C ' ' - AM 2016
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The correct sequence in the tissue culture technique is ,

(1} " Inoculation - explant incubation - calius formation - organogenesis - preparation of
medium-transferred to field ‘

_(}} Preparation of medium - inoculation - explant incubation - callus formation -
organogenesis - transferred to fieid ' .

(3) Explant incubation-preparation of medium - inoculation - organogenesis - callus
formation-transferred to field

{4) Preparation of medium-inoculation - explant incubation - organogenesis - callus

- formation-transferred to field '

Sore 3¢6 B8 %o _ '

(1} ®odg)ddso - Igyos ROHBAS - b Ado - VBRI G - oirSLo

. ScirsBohdo - Feos® Frésdo, -

(2) oird¥o Sesrdy Bcfdo - ©o8YIS50 - I§FodS KBRS - sud DEYBE0 -
BS50NTES - Food® Tde. ' : o

(3) B0 osBAS - Srsso SoirdHBohEo - B080)I50 - WIHSTEB - oS
IEdo - PeooS* Twdo. ‘ ‘

(4) SrSgo dosirsodiofdo - ©0gY)B¥S0 - G olS RoBAS - BSOS - Fod

bd’)cs&-o - rooest oréado.

13.

The pea plant with round éhapcd seeds with vellow colour seed (RRYY) crossed with another
pea plant showing wrinkled shape with green cotyledons (rryy). Theresults of progeny in

. F; generation are produced in the following number.

1) Heterozygous for bath shape and colour of seeds . number
ii) Dominant for calour, but recessive for shape number
iii) Homozygous for both shape and colour of seeds number
iv) Heterozygous for seed shape only number
o 2ol 3nES* Hogd Jdren SBosw D0 Soih ddaen (RRYY) He A0
Sndden &S Igaren Sabcsn esBy Boiy Haleren (rryy) e Al & Dogdo BB
Fy 88085° D888 Hod86° 808 oferen £9:3 I o Dopg Bod o Hokado.
i) B as0or s %é-}ei" fo Do dok, wessn Ko Bog o dopg
ii) Jéda Sothes® VT PSSP, WGt sodgdomdo @93 S0 o Somg _
i) dgSo ok Jodokw esEos* ddocinmz H8ke Jng e Sopg
V) dd30 Solh $odomn, s ded’ BTV F8he I e Sopg
The correct answer is ‘ ‘ ‘
HB@S SSPES

i ii iii
(1) 2 4
@ 4
(3). 3
(4). 4

(SRR
0 B 0o 00 m

2
4
3

R —— v : -
9-C , : AM 2016
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14. Identify wrong staternents. ’
ListI : ListIT List 11 4
A) PCR i)  Specific basc sequence I}  Taqpolymerase
B) . Downstream ii)- inheritable gene I) Ampicillin
processing PR resistance gene
C) Resiriction iit) Amplification o E.Coli
endonuclease of DNA A
D) Selectable Marker iv) Transformation and IV) Quality controi
: " non transformation ‘
v)  Product separation & V) Ori
purification
2OER gpgod KBouhdn, |
5881 H¢38 11 $¢3% I
A) PCR D) 28y goEssw ) ‘oF >OXES
B) edHpad HEch i) edHsors 2y M wcdddS IESE
_ 2835
C) ORES o8’ Srgfcod i) DNA DSB8 500 ) E.Coli
D) $8mo Bondy V) HB5BE So0osw IV). e dakodse
S, & HOHBSS0 O
V) edad) SthBalto V) On
Hocko HY BEHE0
The correct match is
$050S adESISw
A B C D
(1) iii,1 v,IV i, V i, Il
2) LIV iv, 1 i, V ii. I
(3) iii, I wIV i. 101 ivII
@1)/ i, I iv,I - i, 1T i,V
Rough Work
10-C AM 2016
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Which of the following is true with reference to transformation in bacteria

(I) Transfer of genetic material is mediated by 'F’ factor.

(II) Uptake of naked DNA fragments from the surrounding environment and thc expressmn
~ of that genetic information in the recipient cell.

(I Transformation experiments were the basis to propose chromosomal theory of
inheritance.

(IV) Transformation was drscovcred by Frederick Griffith in Stmptococcus preumoniae,
wgaoive:ej‘ 2RFROSGISH Sowogod 1808 TES THSPH T KGoEaSw.

() 'F's 880 Sogigsgdein oo Bloghargsn waddohnda.

() 35 DNA podarolh 5056 sevstmo S0d RE00D o St T esaSag

JSrrdo 5,3‘:’»560

(M) ErF0 odSorss RITod0 HBFHoHEK 2XOIBIES PR SorergrEte,

(V) 28055035835 (280§ PSS, (RIFEES 5355:“00’&: & Sl ame.
Correct answers are

BOGS BSrErES0 | ' »
(1) LIV 2y LIV (3) LIV 4 LIV

- 16.

Plasmid can be considered as a suitable cloning vector .

() = It can be readily isolated from cells

(I) It posesses a single recognition site for one restriction enzymes ‘_
(I} It should have high molecular weight . ,
(IV} Plasmids and bacteriophages have the ability to replicate with in bacterial cells
Ffod Elofl Sirsreum TErO8 o sdare. |

D 283 $508585 Sare Hod IoodobSuyso.

(D D2 ohoth =8 BRES JoBSwk wd K80 250 Hotnod.

(D) 2D Ay 5 exierdo 08 doad.

(V) F¥fen, erfodorarBes kdogom r§dair Ko (EEyD aad:;’gg'ﬁ 88 §§ @otrcm
The correct answer is

RBGHE JSPEeSS0 ‘

(1) LILIV @ LLILY  (3) LILIV 4) LI

ﬁough Work

11-C - AM 2016
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17.  Select the correct statements

(A) HI histone molecule lies inside the nucleosome core and seals the two turns of DNA.
{B) Acrocentric chromosome has one extremely short and one very long arm.

(C) The association between positively charged DNA and negatively charged hzstones
allows for meaningful DNA packaging inside the nucleus. : :

{D) A few chromosomes have non-staining secondaty ddnstrictions at a constant location ‘
and gives the appearance of a small fragment called the satellite.

NOGS gl KaBowdn.
(A) H1oS omy SrgfBordrd 56 650 ¢od DNA 3ok Séd §°5% 0885508,
(B) A R0oEE FArd'D of 08y ardodd HTES vaDEY v $0A Gonod.

(C) Sod) wildsns® %) DNA, 20ard )l B3FI0S' &8) Iraple SHegio é;’rmzéo
BoEse: %o DNA wESodom alodnd wodliy 3908,

'(D) £ FAIrENedt of OF) pods eroth grfoer ol ehbonsd) irowd
WRO Poras’ ¢od HED Hodlod TBBE voirn,

() AC (2) B,C 3 BD -  &7CD

18. What did Engelmann observed from his prism experiments.
(1) Bacteria could not detect the sites of O, evolution
(2) Bacteriareleased excess carbondioxide in red and blue light

e(}‘) Bacteria accumulated due to increase in temperature caused by increase in oxygen
concentration.

(4) Bacteria are accumulated towards red and blue light

QOASHS BRHS DHEP PAFTO Hod & Bod @oTl) HO¥SOBI.

(1) wrfocirer ©ipd ddde IO $HBoBBEF0nS.

2) 0, 98 Fodo I wrfbcires MWyl TYSFEHED Ihde THI.
(3) wBpS mEs DEDE 08 BFES DHHER Tfbir Hodahiio BoBSE.
(4) 0P Dodoin D Fode 5§ riOSr Hodchidc Bodarow.

Rough Work

12-C ' AM 2016
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Set Code |
L2 _ C

Pick the reactions from the following where a water molecule is removed and reduction of

NAD™ does not occur in the reactions of respiration

(I}  Succinic acid — Fumaric acid

(II} Malic acid — Oxaloacetic acid

{I0} 2 phosphoglycerate —» Phasphoenol pyruvic acid

(IV) Pyruvic acid — Acety].Co-A -
& Sob TyHch WEge Hood :‘Qéﬁ @sms’a Z)éocsecﬁog %65, NAD §aE8mo 23582

dgodo A8 Resn.

() D8F wio —» HgSods e:330

D Srof ea’:oo - of wREE o0

(II) 2 &z&bﬂaﬁé’i’ - FFRTS D oad;-ag @i

(V) I8 8o — ebBS Co- A

Correct answeris

[OSDD BErprSo

1) LIV @ LI of LI @) LI

20.

Study the following

(I) F, progeny is first hybrid generation and progeny resembled either of parents

(I) F, progeny is a resultant hybrid generation of cross pollination among F, progeny
and progeny showed both dwarfand tall plants.

(It} F, progeny is second hybrid generation, produced by selfing F; hybrids and progeny
contained both dwarfand tall plants.

(IV) The proportion of probability of plants that were dwarf were 1/4th of the Fz plants
while 3/4th of the F, plants were tall.

§od T8 egoHSo Baswsm, :

() F| 860 3u88 Ho8d860, 206050 éa d80 Bofen JQPEF IBT 2§ wSEE60
JoHS FO dayaxn. : ,

() F860 IngHen, F 8o Inog o Sagig H680K :60;’)62,;5» 2080 IEAID Hbatn
& S80 S, g oo 08 Hamown.

() F; 860 Jnghen, F) s6o IngHho Sy drdoes BodG S0 HOSor A5HES Do
$0BTEG0 ook & Eo SEY, I Dol 8 Game.

(V) Bo&* Ssos* g e Sogrdgs 14N FEH e Sogrdgd 3/4 m 08,

Correct statements are
ElalanAT -TgPLED .
LILII IV (2) LIOLIV 3) LILIV 4) HLIV

13-C " AM 2016
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21. The transcription unit is represented by the followmg dzagram Select the correct answer
based on thJs
A o D
34— - B : : 5
5 £ 3o > 3
— i 4
A B ' C D
(1) Promoter- Terminator Coding strand Structural gene
42} Promoter Coding strand Terminator Structural gene .
(3} Terminator Coding strand Structural gene Promoter
(4} Promoter Structural gene Coding strand Terminator
wBPS Pireod) SrdoB ;Srﬁs‘é&!é B0 Mo dZcBLS. 8D Lo LTS oérm‘éo
Jéo_lg‘oé e
A B. C : ‘ D,
(1) @Hares BoR6E C H0BEY DS - doyme wdogd
(2) Ba3rs HOESYH S - BORLE Aovyes adag)
(3) BoB0sE SodEH &5 Ay adegd - PE0S
@) $3Ires Aoy mdagd BoBEy S BoEws
22. Identify the correct sequence of taxonomic h1erarch1a1 m‘rangcment in ascending order of
the following
(1) Spermatophyta, Sapindales, Dicotyledons, Anacardiaceae, Mangifera.
(2) Mangifera, Dicotyledons, Anacardiaceae, Spermatophyta, Sapindales
Mangifera, Anacardiaceae, Sapindales, Dicotyledons, Spermatophyta
‘(4) Dicotyledons, Anacardiaceae, Sapindales, Spermatophyte, Mangifera
& 800 3886m spone HOTS Fird) e ToElons® H30iE08.
(1) 5", FDodOB, Sgddbaren, wisgchd, Srosdo
(2) SrozBo, agdehares, oSsgahd, NG LT, FoBE)
(3) Srogor, wzésvgcﬁob F20oB0Y, Beieharen, WGE PIr
(4) &séébwm ©SHhd, r&'boééﬁ 936&63‘"“96;:" Brogho
Rough Work — ‘
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A student observed a water drop under microscope. He found a photosynthetic organism,
Its cell walls form two thin overlapping shells, which fit together as in a soap box.
Which of the following organism itis . ' '

(1) Euglencid * (2) Dinoflagellate (3) Sporozoans  (4) Diatom

vs gl w8 A DEHK JrHSYD Bos 568003%. wEIE Swely Bodrhsab
20w 2 EDDoBRl. RGNY) EFISin Bok s T8 Denddd ok Sodl
RoEroi £08 Hod u Bodo o 0D s supyagerd wld Jomon.

od @iwdd T8 ©d Ddd

) ohopoons  (2) BEREES @ MFESn () derbd

Study the major pigments and storage products in the following lists and match correctly.

List -] List-T7
(A) Chlorophylls a & ¢, fucoxanthin and manitol (1) Porphvra

(B) Chlorophylls a & d, phyco erythrin and floridian starch (L) Telvox
(C) Chlomph}'lis a & b, pyreonoids with starch and proteins (lll) Hibiscus
{D) Chlorophylls a & b, carotene and ' (V) Dictyora

xanthophylis, leucoplasts store

- carbohydrates, fats and proteins
. (V) Anabaena

% 1808 JPLESD Phord REBTgos, Jend sy ;’:cr"t:;uén 55309 REEN ad
foded, ' . _

HOE -1 58 -1

(A) E5E a & ¢, rgferods Hbohe Srolrd O 230
(B) E£50S a & d, pEUOBS Lbate FOAHS @) e

(C) E0%6 a&kbovahe pomrondy THS' Fto @&y () 7955
(D) 5696 a& b35'8S, arofhden HadmPen, | ' . |
SO En, Fhe, @i dudain (V) Agcrér
' : (V} exsda
The correct match is
B0 BEESS0

A) B () M)

(1) MV o N
¥ 1 ®E M
H U1 1NV
@ N m v o
" o
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25. Study the following lists and match correctly
List-1 List-1I
{A) Slphonogamy &zomdogamy {1) Amphibiants ofplantkmgdom
(B) Living fossil (lI) Arachis
(C) Liverworts. (II) Ginkge
(D) Double fertilization - -~ (IV) Cycas
‘ i (V} Laminaria
R @o&) SGEos H0300d HBELS ad g0dob. :
038 - | o weds - 11
" (A) SEE So@rdo Sdosw
SoSHHa dasod So@rito (D Sgoregd dgcdow
(B) @88 HI) serason ' () TS
(C) 958 dfen - ‘ (I0) Aon*
(D) Bysobsdn (V) 288
' (V) erdbasy
The correct match is
BOGS ud Eodn
B ® © O
H Vv IV 1 I
@ I WV 1 m
@ N Il O 1
4 NV m I 1
26. Identify the pair of wrong statements from the following

(IY  Branches of limited growth in Asparagus perform photosynthesis.
AWy Petiole of Australian Acacia helps in climbing,
(I} Floral bud of Agave store food materials.
Aerial toots of Taeniophyilum helps in vegetative propagation.
& 808 TS o8 ud FBy ISdweto HIoWOA. '

() &3oas &° 8 nhibde Tpen §8nnsy SoRBriahi athYHacss.

() eRdoHs efhod HESpssn erihbs SEyHeod.

() &Ad HYFTeen wFoR) Jenduown.

V) SArpos Tosnis 3% THok @éogéo)@&’) nloPhde BHaHBHES0.
The correct combination is

TR0 ;03%0’:\5;500

M LIV (2 LI (3) MV (y/ﬁ,w :

16-C AM 2016
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27. Assertion{A): All the fruits that we eat are not real fruits.
Reason (R):  In few plaats floral parts like thalamus or pedicel also contribute to the

fruit formation. Such fruits are calied false fruits.

(A)and (R) is true (R) is correct explanation to (A)
(2) (A)and(R)is true (R) is not correct explanatlon to (A)
(3) (A)istrue(R)}is false
(4) (A)is false (R) is true

DHEo (A): Hl3dn 83 Jodned) dzdosed S‘CSJ

C

sdmo (R): £'7) I oG* Hardse o @abéaoéo St Hodn IG)tdd SIEdFo.

3R 95536 STED WO,

(1) (A) %805 (R) oo 56505 R) w58 (A) & BOGHS D56
(2) (A)Bo00 (R) en 50033 (R) 65056 (A) 8> H008 D6 w6

(3) (A)50&@50 (R)H0R0S8 B>
4) (A) éa@»ﬁa 578 (R) HOESB

28.

Study the types of ovules in Lzst F'and match correctly with their occurence with List 11

List-1

~ (A) The micropyle of the ovule close to the funiculus

as aresult of 180° curvature :
(B) The micropyle, chaloza'and funiculus of
‘the ovule are on the same vertical line
(C) Thebody ofthe ovuleis placed right angles to the funiculus and
bends in such way that micropyle comes towards funiculus
(D) The ovules are without integuments

List-If
(I) Dolichos

(II) Loranthus
() Helianthus

V) Polygonum

(V) Sphagnum

< @0&: HGE 15° adqnds &noédé;ﬁnaéz 508000, B8 11 5°0 88 Jomr 28 Hobod.

2838 -1

(A) ©0dTSro 180° S'woe* wodyodo IH &66&503
wodorgdo, ol PSS SHET B0Lnod.

(B) wodagdo, were, voddodo w8 Jond Ipp Hokromn,

(C) ©woddFro wodSpe s vons'os® Hotnod Boddso
R0 BSHGE0S® wodmdo woddyoso 3 $Ky308.

288 - I1

M 5085

) Sorods
() &roatroes

(D) womredn 8380l wod ESwrw Hos. (V) FOFSD
) W) @;Jr:flo

The correct match is
OGS adEBIB0n

Ay B) ©) (D)
() m v I
2 NV VvV 1 ]]I
3 .V W~m I

m v 1 1 :

CHE 17-C AM 2016
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29. Assertion(A): Tageticula and Amorphophallus cannot complete their life cycle without
each other.

Reason (R):  The moth deposits its eggs in the locule of the ovary and the flowers which
are in many feet height inturn gets poilinated by moth The larvae come
out of the egg as the seeds start developing.

(,Iz)/ Both (A) and (R) are true, (R) is the correct explanation of (A)

(2) Both{A)and (R) are true, (R) i is not the correct explanation of (A)

(3) (A)istrue (R)is false’

(4} (A)is false (R) is true

Yo (A):  Erabsige Sodokn SirOYTeS w8 Bsod HEE SD85EY TY
BBETH.

w00 (R): & de¥o womdobho Deost By oshod. HIS Hamr '§é.1,§o e
o wdho JRS' HI) .9)5306‘ Jovdod 0 sihsod. Do
SR Bod Hochos® iy S08 erogen wdhid Srow.

(1) (A) 20650 (R) e SHFTID (R} wdosa (A) & Hoq0s D56

(2): (A)Sodcsn (R) oo 568D (R) 85056 (A) & ;sa&ia;s DS 57

(3) (A)20g058 (R)50Basd

(4) (A)SBGS 575 (R) S0RosH

30. A plant produced 50 flowers. Ovary of each flower has 50 ovules. How many fruits and
seeds are produccd by that plant respectively

%8 Q0 50 ParyoIBPISH. @8 PAPNS") worrdchin 50 vomreds £9a ‘55.15
& 3oy, JOOH Deoren Hobcin JdTren SR

750,50 . (@) 50,100 (3) 50, 2500 (4) 2500, 2500

31 Select the correct statement from the following regarding Asexual reproduction -
A)  Itis slower than sexual reproduction .
B) Itinvolvesa single parent -
C) It produces progeny that are genetically identical with the parent._..---
- D) Clones are the progeny of asexual reproduction_~
©Zohs HEgEBE Howodod |fod FRST B0 wonS Tpged HYoSs
A) =28 BodE P&gHG Sam TS adHd
B) & dgrdoes® 63 o8 esdsods dords
C) =d sdgddor o3 Sfomr astHos ¥ Hod Lossd Ddbézﬁoaﬁa
D) oBoas @egdd oo yd J088 ESen @oird
(I) ABCD (2) A.B,D (3) A,B.C gv)/ B.C,D

18-C AM 2016
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32. The given symbols of floral parts indicate the condition of

N Y
%, C AP A G .
(1} Zygomorphic flower, epipetalous, cpiphylious, superior ovary
Actinomorphic flower, epiphyllous, epipetalous, inferior ovary
{3) Zygomorphic flower, epiphyllous, epipetalous, supenor ovary
(4) Actinomorphic flower, epipetalous, epiphvlious, superior ovary.
afnds HJyerme Soderen D56cT 5’:6%&

%€ AP Ao

(1) ar88 FuSasnd Qjo.‘QO :.’néoéadé*oagéo BOHF"E0Jb0, B eorrFoio
(2} ib‘ﬁ:‘:diaaé Do, BpHE*HdRKS0, &&aéé‘éﬁ?’géo 9:5.31 woddoRo

(3) a»gg Bradoiong Hdyo, é&a@a‘a@%éo :’:oéa&:d@‘;’:ﬁ%éo B WO F050
(4) @gédﬁoé Yo, a’)aéoeadﬁ“éb%e‘io SBHE*HOYo; W womdivo

33.

Assertion (A): Eukaryotic cell shows extensive compartmentalisation of cytoplasm.

Reason{R): Presence of membrane bound organells is an important character in
prokaryotes. _

(A’( Both (A) and (R) are true but (R) is the correct explanation of (A)

(2) Both(A)and (R) are true biit (R) is not the correct explanatlon of (A)

(3) (A)istrue but (R) is false :

(4) (A)is false but (R) is true

Ipso (A): Qu BodE Seadne'd SegNgien DTBBK JFLotad @000l

S0 (R):  #esins B8 e3005083 H0F) Earordne $DR okl efss ok
iy Seadon w), Swpgiod efmdn.

(1) (A) 00 (R) oo 58503 (R) 05038 (A) S 58808 250w

(2) (A)%b0i (R) oo 50080 (R) w5038 (A) & 550 DB8E 5>

(3) (A)50&050 (R) 088 56

(4) (A) 5080 £ (R)$0G56

34,

Arrange the following compounds in descending order on the basis of number of carbon
atoms present in them.

(A) Palmitic acid (B) Serine

(C) Ribose '(D) Arachidonic acid

(E) Glucose: ' ‘

G 808 aNwds Sodrf dogod a*éﬁé“:ﬁ SR oad:.’)avem;’;)ea Rogge agrddum

3 ESdne” wlsyb.

(A) PNSE elsn (B) %83 o

(C) 25°% (D) woHE I eodn

(B) fips'd

(1) DCABE  {2) BCEAD (3) DAECB 4 CBADE
19-C - .. AM 2016
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Arrange the following in descending order
(A) Number of bivalents formed during meiosis of a spore mother cell of Ophioglossum.

(B) Number of chromatids seen on equatorial at meta phase I in pollen mothcr cell of
Haplopappus gracilis during meiosis.

(C) Number of chromosomes found at one pole after anaphase II during meiosis in buttcrﬂy

(D) The total number of chromosomes found in all daughter cells formed dunng meiosis
from one mega spore mother cell in potato. :

& 180D T 056 Foswest BB0dS0.

{A) LPDFTSD S Fohide JgES 2SSO a8 cagé)a: ;’wéaéeaéne‘i‘ 030;)63 .

B83Toe Sopg

(B} XSS (THOS Bk, m'geﬁngi)aa éﬁé&gm:ﬁn@ EoEdes Defesd a&:fﬁ?&&jﬁ&s
a’aodgsgcsi‘-I S* 2.’3345536 HEE I EA0T L_E’éa'éﬁd Sog.

(©) beE% Devse’ gonitm dans abHIiyd Se36d I Sogs of Wiks 3¢
EIDoW ErwrSoe Sopg

(D) aomgeoos 3;3§L, $ot uf dpeo ‘ogim Srdyfeods® Soh¥dn dgud a&ﬁ:srzjda
:36.)50 a’xr'o oG i)az‘oaeloéﬁe? S0B 3? ' S dowg :

)

(1) BDCA (2) ACDB ADCB (4 DCBA

36.

Identify the wrong statement
(1) , The degree of decrease of chemical potential of water depmds on concentration of sclute.

(#¥ Bacteria and fungal spores are killed when they enter into pickles and j Jams due to
plasmolysis.

(3) Process of water exudation is called transpiration.

(4) Reverse plasmoly51s will occur when flaceid cells are placed in hypotonic solution.

B3y PELI gochswn.

(1) a8 mEaD 355000 DS Gwd E3aHs 10 Skt erdhib.

(2) Seisisg Sob'sso Sob erfoat- Sbas sdo ?ogi)erm Sefe) Sodako e He
D& WAPH S, '

(3) B s G FSo. S

(4) FBsero voyrd (@lndves’ SodsH Bgrid Sea|ESg Ho8*Po BIDohss.

Rough Work
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Match the following

List-1 List - 71
Element . Deficiency symptom
(A) 7n ' (I) Bronzingin legume

(B) (I () Mottled leaf in ecitrus
{(C) Ni | () Whip tail in cauliflower
(D) Mo (FV) Mouse ear in pecan
§ob 8D 56, | :

ne3g - | 538 - 11

Sorogsn ' : 'S eEndn
{A) Zn _ () Blrgod® grooh
B) Cl - (II) Qsns® Sogyuatio Hgo
(C) Ni () s~&3x%6e° Tom &%
(D) Mo : IV) weas® 530 aasad
Identify the correct answer '

DGR St fiodde.
A4 B) © O

1) 11 N I

N AF e I
(3) I VI
4y 1 I m v

38.

Summarize the dilferences between a Dicot and Monocot root from the following table
and pick up the wrong differences.

No.” Characters : Dicot root - Monocot root

A) Activity of pericyele  Lateral root production  Secondary growth and cambium
B) Vascular bundle Diarch to Tetrarch Polyarch

) Cambium : - Later developed Absent

I¥) ~ Pith Well developed Poorly developed

& BociRRcedd HEE Sood 95553&.6 ags éesn"",d: 50008 HESE Hedth Sok fo HETR
TN Sfadiaio.

Ehopy  wfolo | Besd Baddy DESE Dadd
A) CSoSESS SrORHE wTyEn Bsbas 5,8 Sodakn Derag
Bairfeod _ _ Emerwdne
B)  o¥shomes | GeEd mosn So0d  weig (6% ooidse
: . SN gl

Q) DTy Soowroin S&S5cado Ddﬂfiﬁﬁd o :
D) &3 e 55 Boddradods S35 58 Bobsododh
Answeris -

Rarrddo - ' _

(1) B,D (2) AC A3 TAD (4) 'AB

21-C . AM 2016
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39.  Arrange the following in descending order basing on their numbers.

(A) Number of central microtubules in a cilium

(B) Number of radial spokes in a flagellum

(C) Number of nuclei found in 4 mature sieve tube cell
(B7" Number of peripheral microtubles in a flagellum

& Boll D T8 Jopgo wmEswT ST FrerE St &by,
(A) 28 30¢ JTymdns® 550D ROy SrETose domg

(B) =¥ srgEns® wod Tgard Fde Somg

(Cj o8 D055 BobS wudTE Ladng'd BoEswe Sopg

(D) wf 7o'y H8dokh SrTdte dopg

40.

(1) DBCA A2} DBAC (3) CABD - (4) ACDB
Arrange the following compounds formed in respiration based on their C-atoms in
-ascending order _ .

() Pyruvicacid : | (I} e -ketoglutaric acid

() Citric acid (IV) Malic acid

FTLOERS® INES & §od JoRTAEre C-HESrepe mua;gésﬁmbof.) s raEsins®
wiod. . :

0 28rdF sy (M a-85'4rs8 sk

(L) SiEsi53350 (V) 5706 ey

Identify correct answer

SO IErGERN MYoHsn
() WLLOL @) LVILIT () LILIIT 4y LIVILT

Rough Work o
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ZOOLOGY
41. Match Listl with ListII
List-1 List-1I
(A) Stomochord (1) Hirudinaria
(B) Botryoidal tissue : ' {(II) Dentalium A
(C) Captacula (IIl) Balanoglossus

(D) Rhabdites - (V) Dugesia
o : (V) Pinctada
525 B BE55S08,

2698 - 1 - 5638 - IF

(A) ¥rsg ) d;.asccm-
(B) &5 8d8rondd Ewarwo (I1) 50&.7'@@110
(C) searfoger : () BeSrrasd
(D) orgootien - (IV) &hbasr

‘ (V) 2oga
The correct answer is-
286 S0 dSrgrde

A B C D
My M § Vv I
@ I T W m
@°m 1 01 N o
{4) I I 0 Vv

42. The following organs appeared for the first time in amphibians
{1) Syrinx, urinary bladder and cloaca
{2y~ Tympanum, sternum and lacrimal glands
(3) Harderian glands, sebacious glands and lacrimal glands
(4) Furcula, four chambered heart and palate

% 808 DO ETe BNSBIBT SHBBTOS® Ey0won.
(1) #9, SorgFoisn, et s5w |
(2) 5580, &8y, @RS Yokoen A
(3) 9GoahS odwn, SHBIoLow, SRS o
(4) oo, Tl Kdow Hod, e (wohd)

S
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Assertion {A): In side-wise-lash movement, a flagellate moves forward due to effective
stroke of flageilum : ' '

Reason (R): Flagellum becomes comparatively soft so as to offer least resistance to.
water in propulsive stroke

A1) Both(A) and (R) are true and (R) is the correct explanation for (A)
(2} Both(A) and (R) are true but (R) is not the correct explanation for {A)
(3} (A)istmebut (R)is false . o :
(4) (A) is false but (R) is true .
Hdo (A): Erg IURFHE FoS0s® Srw (Herss Geyy Sod FRBE Snodeso
Edoendrod, .
Sdmo (R): (@IQT BaySos §reo HoTsor LTS HO8 wasss s
RE'Go ¥OA™ Srdidaoh.
(1) (A)Zooaho (R)Boke SS0 Sobosn (A)6 (R) 535 d56w
2) (A)Seam (R)Bodr JP50 53 (A8 (R) £33 258w 5%k
(3) (A)5R%6 =2 (R) $2%6 st
4) (A) 3356 s =2 (R) 5958

44.

The aguatic weed which is ﬁopula’r]y called terror of Bengal is
}H’ Ervthroxylum (2) Eichhornia (3) Fchinus (4) Echidna
€ O Beondy Tk S BEE 6 Bomdrr SgSadde.

() DeEEee (2) msgese (3) . g5 @ 28y

45,

Rhabditjform larva perfornis extra intestinal migration through different organs in the body
of man. Arrange them in the correct sequence

(A) Liver L " (B) Hepatic portal vein

(C) Heart (D) Postcaval vein |
(E) Lungs. : 7 (F) Pulmonary arteries _
(G) Alveoli (H) Intestine N

TREFEY dogf¥o ErSHH DI eihTe oY I Sost Wb, B
siohaof B8 FSsosesibn,

(A) sSasaiu , B) sBoh Jwerd b
(C) Hyasasn B (D) HE%% s
(E) who8dye0 o F) D50 gSBen
(G) FasnSen | C(H) S
(1) D-A-BEFCHG = éZG-A-D-OF-E-G-H
(3) EF-A-C-B-D-G-H T @) ABDF-CGEH
24-C '. Xt | AM 2016
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46, Study the followmg events related to Na and K voltage- gatr;:cl channels and ﬁnd the incorrect

combination
SNo [ Channel Gate Resting | Depolarised Repolarised Hyperpolarized | Speed of
. . Phase - response
A Na Activation | Closed Open Open Closed Fast
- gate '
Na Inactivation | Open Open Open Closed Slow
gate -
C K Activation | Closed Closed. QOpen Open Slow
gate -
808 &R ¥6D Na, K 5P ABE oid)ta dowodod 250 52 somei mHEosos.
S| e Titoo DTS RalebTo- T R P e EERSIE TS
J[o. %-5‘3 _ Gybeme | DHSpa Ao
Al Na 23%3;&5 BorDIF R BEH 38H | Koo 3narr
€. &8 59 L .
B Na aIEIAS 8dh T | B Bdd BIrB SRS Tl
Héw £ £ . &9 £ ,
C | K | 383585 | Sorde | Sorida a8o% | 85w | Idpm
koo £ £l &a g
B A - (2) B (3). ’ 4 AC

47. In the female cockroach the anterier wall, roof and floor of genital pouch are formed
respectively by the following abdominal sterna of

7, 8t and 9t segments M, 7th and 9t segments
(3} 9, 8thand 7th segments (4) 8th, 9th and 7th segments

ed FHoES® alrdudio @"'D"SO&E’Q} &, aééj, &t ﬁ‘csm SEnm & &68 podars
aSdored adbéa*ma ' .

(1) 73, 85, 95 podereo (2) 83, 75, 95 poderes

(3) 9%, 83, 75 podberen {4) 83, 93, 75 mpoleew

48. Chilomicrons are
(1} Micelles covered by a protein coat
(2) Droplets along with triglycerides
 (3) Triglycerides along with monosaccharides .
-(4)-"Glycerol droplets formed in intestine after d1gestmn of fats
B3S° DFaen wold
(1) @83 widovnsds obdws
(2) BheRGes Sras dodiHuo
(3) FrFwplos’ K88 @heDSes
(4) Figen BEhdIm s’ NHES faod DodbHes
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49. Study the following and identify the incorrect statements. ;
(I) Muscles of the iris and ciliary body are the smooth muscles of mesodermal origin i
(II) Slow and sustained involuntary contractions of smooth muscles are called spasms 1
(II) Quiscent mononucleate myogenic cells of skeletal muscles are called pericytes 5
(IV) The skeletal muscle fibre is multi nucleate and is a syncitium
80d woTod wEgahio Bh S5YT aNwaES T HGoS0s.
(1) %o &8s, 30T Sodoren Sodgietans Sy Sodoren
M} S0k Sodoren g, eINHoT 2 &gg"o SoB ol MBSy wotrd:
() 3PS SodTrees'd $orgdird, EToBE HRTRIE §068 dodhHeoo Lares 0
VO, -
(IV) 39d 5088 wFvsoss, RARCHE Qo%ETeD o
IV @ LV @ m (4) Lm
50. Identify the incorrect stalements ,
() Members of Gastropoda exhibit 'torsion’
(I) Aristotle lantern is present in heart urchins
(Ill) Anthozoans are polyploid forms
(IV) Diplopoda includes centipedes
€ $ob TS J05Q Tpges Hgowod. -
D) rFFe ddHeo OIS Bagron
(AD) ©dyaS erodd T2 ufdes® wolood
(Il) soff='a dden FOD Srdoss® Sodron
(V) 18dhodh aFmes’ dontm
() ILIT (2) LIV (3) LIV @ LI
51. Read the following statements '

(A) Adam'sappleinman is formed by thyroid cartilage

(B) 'The maximum volume of air a person can breath in after forced expiration is vital capacity
(C) About 20-25 percentage of CO, is transported as carbamine haemoglobin~

(D) Pneumotaxic centre lies in pons

180d woren edgailo Bood.

(A) Sr8PASt ¢dSy MED Forowd Soyery DoH0s.

(B) wolodd dmgho s beyle ™o £85 HoSrwo Fod Fdogso.
(C) B> 20-25 3do COp sES FRPFOIT Sare aHeod.
(D) Srgarerg)s Soldo SHS°® Gotwod. |

Identify the correct statements

P vorod ¥08 woren

(1 A 2) AB (3) A.B,C E,) A,B,C.D
S 26-C | : AM 2016
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Scos] cl

Study the following statements with reference to drugs and choose the incorrect one

{I) Barbiturates cause sleeplessness _

(I} Opivids are obtained from the lzaves of Erythroxylum coca

(ll) Morphine is a very effective sedative and pain killer '

(IV) Cocaine is obtained from Indian hemp plant ,

Srdf Eages Sonodod & \§od vorod és»:ﬁso::b:ﬁo W 305D TOR JohE Johod.
(I) ergyedler JEFomen = -

(II) 2oFBuc & AuY), sho Dod 2hHBrG% Do,

() 3r8yS oo RiogRes SudaScom Mok ¢ Hod Gddso 8500,

IV} erds roh Jn#, Dol 5T Soyierdnt.

(1) LILIK @ LIV (3) LELIV @ LIV

53.

Assertion (A) : Monkey acts as a reservoir host for the parasite that causes Afiican sleeping
sickness ' -

Reason(R):  Reservoirhostlodges the infective stages of the parasite, when the primary
hest is notavailable

(1" Both (A) and.(R) are correct and (R) is the correct explanation for (A)

(2) Both(A) and (R) are correct but (R} is not the correct explanation to (A)

{3) (A)istruebut (R)is false :

(4) (A)is false but (R} is true . -

QgEo (A):  ©RES 0BV FHA E00T SRS 58 eich wadonne SgST0R0s.

sowe (R): "@réDd wdFon COESSYE sich w8Fow H0GEd Soo¥), FoEnk
Sdus sFchtod.

(1) (A)%bdin (R)Jodr 5330 5:0080 (A) & (R) RS D8

(2) (A)S0ct» (R)Badkr EBED 50 (A)& (R) 333 D360 5

(3) (A)Sps8 Sbain (R) 53358 5o |

(4) (A)%230 5 52 (R) $856

Study the following statements with reference o nervous system in Periplanata
(I)  The brain is mainly a sensory and an endocrine centre :
(I} Allthoracic ganglia supply nerves to the parts of their respective segments only

- (ll) Sixth abdominal ganglion is the largest of all the abdominal ganglia

(V) Frontal ganglion is connected to the ingluvial ganglion by a recurrent nerve
DOFIEr Th SgIP HowoHoDS fod worw HOEDOTOS. '

(D)~ Docsdo SoomgPod s, wedPm3E oo,

() Sgord Sothe S0l KBS Ttwo 8clr podd Trmosh e 5530 ePeon.
(I} 286 od BothooBS Sr il addad $0d oe .

{IV}) oo, 20872008 6 Dofoods 8308 T8 Soaleod.

From the above identify the correct statements '

B THST &S Jﬂgmge:;ﬁo Saobod.

(1) LIV Qr om0 (3) LI ) LIV
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35, Which of the following' is correct with reference to population growth

Montality Natality
B L+
{1} Natality Ty Population i)- Immigration &2*)/ Immigration “¢—{ Population {-+— Mortality
: Density : , Density | -
Emigration Emigration
Mortality Ifrunigmtion
o1 N
(3} Emigration ~¢—| Population | < “Natafity (4) Mortality ¢ Population =» Emigration
. Density _ Dansity -
b+ T~
Immigration Natality
& 308 B wTO5EE Sonoded K3HB.
fateo Béx %S Beso
. J‘_ + ¢ + '
(1) =88 Bl y [ e 14y S0 oo (2) Sob oo ¢ [ aver | it B
' Fogis ' TosE
SoB 250 Se% SRSo
odm Db Jud gHido
T_ Lt
(3) soi 580 g [ mow &8s Bew (4) 38w Jwg [ Foe =y Sed arsdo
oSS . ' o
L+ T+
Ses odde aé:ﬁ: B
28-C AM 2016
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56. Inrenal tubules afdasterone _increases

(1) Absorption of K+, H* and elimination of Na*, H,O
{2) Absorption of Na*, H>O and elimination of K+, PO, -
(3)_AdSorption of Na*, H;0, K+, PO, ~
(4) Elimination of Na*+, H,0, K+, PO~
D), TS LRE'S & $fobedh BiEe BHgos.
(1) K, H*o #i, Na*, Hy0 & 285
(2) Nat,H;0e 5w, K-, PO; o ::'::.gﬁ
(3) Na',H,0:K*,PO; "o 4, |
(4) Na*,H;0,K* PO;~o 2§

57, Read the following about pollution and identify the correct matching combinations

T-1 LIST -]I LIST-TII
(A) Chernobyl . Accidental leakage - Radio active wastes
{B) /Elninio effect - Global warming - Causing climatic changes
/(€) Chlorefloro carbons Ozone degradation Flurorine atoms rcleased
L } Snow blindness UV-B Radiation Inflammation of cornea
Fa0argls Donodods € #od U wEgohso 3D BoN wde SSrerTR) Howosd.
e -1 e - 11 eriver - I]1
(A) BYDE O Bdroded =008 082 dAdr oy Soges
(B} JSQT giprdo S0 Terste Srines Soohi
(C) S8 sgTen L3S fmel oS SddrenPe ddde
D) 6 06 oddo  UVBESwes  soe aeyBisto
(1) AC (2) AD (3) AB,D 7 B.D
Rough Work
29-C  AM 2016
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58. Match the following

(A) Tnterferons ' - () Fy

{B) Paratope (W) Inflammatory mediators
(C) Interleuking (Il) Antiviral proteins

(D) Histamine S (IV) White blood cells

(V) Anticoagulant
Sod o adidJdch.

(A) notd ovaen o {I) Fgp
(B} &rou's : (II) weged Ndgageges
(C) =0t orgdSen S (D) No#Rss @S
D) TENS - (V) Boudgsares
(V) & 048 d6'¢g0
The correct answer is
20 DO0kS Sdrgrdo
A B C D

() m 1 0 W
Gr"m 1 W I
3) T v VvV 1

@ oI NV v

59, During fertilisation, zona pellucida is dissolved by .

{1) Hyaluronidase (2¥ ‘Hyaluronic acid
(3) Renin (4) Acrosin
S088d0 dloois® St Tergha EahodFan.
(1) FTcSroasHger (2} droirwnb’df edgo
(3) Ba5 -l _ (4) SE5S

Rough Work o |
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60. Choose the correct statemerits with regard to human respiration

(A) Inspiration is facilitated by the contraction of phrenic and internal inter-costal muscies

(B) Healthy human can inhale or exhale about 2000 to 3000 ml of air per minute

{C) Functional residual capacity represent the velume of left out air in lungs after expiration

(D} Total lung capacity is the total volume af air that could be accomodated in the lungs
after forced inspiration

Srds Tl Sonohodls HBS worw KHBowWod. |

(A) SanbiBos DG Sodtes, ot Hiysess Sokoen HoERoBGEo S athibdoed, |

(B) wb%pSodhadd Sl D50rd8 2000 So0d 3000 0.8 mod fhm'asﬁaozﬁcéo iy
Jfghoddo adibdod.

(C) Ford= dzgho dougd Mbiagos ALy T FodDHbSred Bolré 8 wids
é‘&:ggo

D) weodody GImgoo dred ﬁa;’aaaéomi‘ @;-:nac‘é rr'et: oo PoNndSrad Jry

| ujé a‘!‘aﬁ:pggc e
,a*/::  @IBD 3 CD (4) AF

61.

9% of Hardy-Weinberg population of 200 individual are recessive. How many of this
population are heterozZygous.

800 éaﬁ}m fie F3-DIaf aorerd® 9% é@m woddaren, % aTerd’ o 2% cbarye
Ayen.

(1) 336 2) 392 '/(,33/372 (4) 362

62.

Assertion (A): In dializer, the plasma protcins of the blood cannot be filtered, but

maolecules like urea, uric acid, creatinine and ions ¢an be filtered
Reason(R): The ceilophane membrane, used in the dializer is permeable to
- macromolecules, but impermeable to micromolecules
LY Both (A) and (R) are true (R) is the correct explanation for (A)
(2) Both (A) and (R) are true (R) is not the correct explanation to (A)
(3) (A)istrue, but (R) is false
{4) (A)is faise, but (R) is true

BYso (A): doLBabs® FaddSos $EE% HIY. 5, hrboir, chraf
. u;’no Boirdns, BosrIor SePFaibodsron.

sSwo (R): 505;62:5&3‘ o8 PO ad dodoe, .os{;e: L% TOT S ﬁvdﬁsﬁagom:éa

RI°E s HE. @ﬁvﬁﬁé_agcm‘é:-_ 2otnob,

() (A)(R) oo 5252, (A)8 (R) 58S D380

(2) (A), (R)wo $352. (A)$ (R) 535 2580 5.

(3) (A)sD56, &b (R)SBEE s ‘

(4) (A)&B56 5260, s (R) #0858
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63. Assertion (A): The renal fluid becomes increasingly concentrated when it flows down i inthe

descending limb ofloop of Henle towards inner medulla, but its oonccntrahon
decreases in the ascending limb when it flows towards the cortex

Reason (R):  The descending limb of the loop of Henle water is reabsorbed; the
' ascending limb is impermeable to water but salts are absorbed.

(A’f Both (A) and (R) are true (R) is the correct explanation to (A)

(2} Both {A) and (R) are ture (R} is not the correct explanation to (A)

(3) (A)istrue, but (R} is false

(4) (A)is false, but (R) is true

A &o (A): SE, 880, TRELD WSS raPs orea S5O & 3D Lé;."):r-oiﬂé.)éjd:
PR THE libhdEr Gotnod. 868 a5 od¥ mgo ;Suzre.uo )
@Sbﬁoﬁma‘jm R rdd dihsr dodnok.

s6=0 (R): oD 25gd O3 TOESt DS DEThe aHdol. a9 bt
Ward f‘iéogom:& DIT O &531;&350:?:63 Sotnod.

(1) (A)(R) eo &332, (A)& (R) 508 DBYso

(2} (A) (R) o0 828D, (A)8 (R) 505 2860 3¢
(3) (A)dzo, =3 (R) 5256 =& '
(4) (A)Sp58 e, 50 (R) 3335

64. - Identify the correct sequence of blood coagulation
(A} Activation of prothrombin
(B} Fommation of prothrombin activator .
(C). Formation of blood clot
(D) Conversion of fibrinogen to ﬁbrm
859,068 BoHE" KBS SHOVESPY) HBoH0S.
(A) EeodS @oﬁr@umaﬁséd ) '
(B) @eons edado ydtoo
(C) o§ig gyt
(D) 205=S 2HST SrGdo :
(- B-D-AC (2) B—A-D~C (3) AD-CB (4) A-B-CD
Rough Work " - o

e 0 <A
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(St Code |

- 65. Reag the following and find the correct statements :
(A) Midbrain, pons varoli and medulla oblongata are together ca]led the brain stem

(B} Paracoels are connected to the diacoel through the iter

=

(7 The regulation centres of heart beat, respiration, swallowing, cough etc. are iocated

(( in medulla oblongata _ o
) Cerebellum is also called the gytoscope of the body

808 wozed BB, F8s* $BS TBY Kifodos.
(A) Soggdadd, FHBE'S, Dzmdwpowd 05 U HDroom aﬁ‘aroé.rcb

(B) &&éxéaa’rmua 2§ o doirhEE* fodnd wodron.

(C) Trydoss 3y088, axsgak, Dodo, Sy BosBS T8 dchio@e 30@‘&:@

Aﬁues;.m:meﬁ* oI o,

(D) -l d) B9 BEWD ol Sre wotr,

3) B.C,D

(1) AB,C (ggihn (4) A,B,D
66. Choose two correctly pa.iréd sets from the féllowing |
SET-I ET- SET-II
{A) Sphenoid bone Keystone bone Cranium
(B} Acromion process Collar bone Scapula
(C) Xiphoid process. Breast bone Thorax
(D) Odontoid process Atlas Cervical Vertebra
Bod addEERES SES* Jod $BS TV KHD0S0s.
e -] DS - | erder - 111
(A) -ﬁ:;l&’}.édi: wSfo. | 8830 NESEH Eareo
(B) - sF0obs §dso . 508 J%0E wodHwo
(C) =dond 8080 S8 Dboo¥ SEo
(D) =dotrons E8so Jetatels ASEiHEe
(1} AD {2y B,D (3) B.C. 4) AC
Rough Work 3 -
3B3-C AM 2016
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67. March the following

SET-1 ' SET-1I

(A) Hyperthyroidism - (I} Myxedema

(B) Hyposecretion of glucocorticoids (I Addison's disease _
(C) Hypothyroidism (I} Increased metabolic rate
(D} Hyperparathyroidism (IV) Cushing's syndrome

(V) Kidney stones
fod odid naSdHod.
arda -1 wfa - I

(A) 56 grondaS | D Byl

(B) dpfegsonfe soyss D) ©E35 o0

(C) ToBoonduss | (D) #58csBen DebHEe
(D) 05 FoRTandn (V) Sohofy boF s

(V). _Somghodos® oy

‘The correct answer is. - .

b ;’aa@é et niTel

A B C D
() m oI 1 V
@rm W 1 I '
(3} I W . IH I
(4) I oI m VvV
68. Study the following with regard to spermatogenesis
{a) Spemmatogonia o : (b) Secondary spermatocyte
(c) Spermatogonial stem cells (d) Primary spermatocyte
(e) Spermarid : _
HERSTIE HoeododV TED eggohso Bobod.
(a) DESrEHEa (b) Bgdai TyonETRew
(c) DESrsE Srefares (d) SEDE BT Rt
(e) To88 o
Arrange them in the correct sequence .
2 B Eond SKdE0St wkg0b. |
(1} c-d-b-a-e (2} c»a-d-,h-e (3} a-b-c-d-e /(4)/~ c-d-a-b-e
Rough Work ' N I
Lcl a b @
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69.

¢

Choose the correct statements regarding genetic disorders

(I) Turner's female is a result of aneuploidy

() Tritanopia is a sex linked recessive disorder

(IIT) Haemophilia C follows criss cross pattern of inheritance

(V) Sickle cell anaemia is due to mutation of alleles in chromosome 11

o miog @égéaeés DSomofed FBS Typgoss KHYoSod.

1)) éa-:ilb- Lﬁ: SRcrrond 080 3363:53-‘&3 '

_(II) Ebﬁ‘&o&:ﬂ &or ca;’re.:'rﬁ WO £S eaﬁg@ ,

(D) r3rbhocss &g (criss crosg) eddetssh ﬁw;’ac‘ﬁa

V) 113 Fardsns® fo SSafinsanErodst 268 &éj&é’}gﬁn S3) E‘d;ﬂé’} g ﬁ'gf:r‘c‘éé
 Saariio. B

(1} LIV @ nm . (3) LI o CWronm

7.

. Assertion (A): According to Gcmc Balance Theory, the karyotype with A A -XO in

Drosophila is sterile female
Reason{R):  Y-chromosome in Drosophila lacks male determining factor
(1y " Both (A) and (R) are trué (R) i is the correct explanation for (A)
{2) Both (A) and (R} are ture (R} is not the correct explanation for (A}
(3) (A)istrug, but(R)is false
(4) (A) is false, but (R) is true

Wdo (A): adogdnd Bpode PEdo (FIPor & AA-XO 8w Jodg | dHen.
s0mo (R}: - @%Wper Y- Farsitns’ S0 ATeE TEke Gogd.

(1) (A)Sobas (R) 5342 (A)& (R) 534 256

(2) (A) fo80%0 (R) 5352, 59 (A) 8 (R) s D568 Ay
(3) (A) SPH6 50 (R) 5858 e
4) (A) 536 s, o0 R)&psa

Eough Work .
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71.  Choose the correct combination among the following
SNo Celumn-1 Colymn-TI "~ Columpn-1III
I ‘Thomas Malthus Principles of populations Phenomenon of gradualism
I Paul Kammarer Proteus anguinus Inheritance of somatic character
II Hugo de Vries Oenothera lamarckiona  Synthetic theory of evolution
vV Bernard Kettlewell  Biston betularia Industrial melanism
808 &e® Sdond ¥dodes Kbowod.
S.%50. whe -1 arfgr - 1T " e - 111
I o8 Srep® 006 b #9BAY  Eodisom 58 gyihcto
I = 25 %56 AT DoAgss 3K ofere widoids
M sogh 458 &TPo erdrgalra 4 Howrd Hoghé boodo
v  @omb 384638 DS Bugdoasr FOTE Trhe ofwo
W LV @ Ly - gl Lm @ LI
72.  Assertion(A): The milk of transgenic cow, Rosie, was nutriﬁonally more balanced than
normal cow milk o
Reasgn(R}: & -1 antitrypsin is a biological product produced by transgenic animals
H}Both (A)and (R) are true (R} is the correct éxplanation for (A)
(2} Both {A)and (R) are true (R) is not the correct explanation for (A)
(3) (A)istrue, but (R)is false
(4) (A)is false, but (R) is true
Do (A): BdoghoShd @, € o) Foo dgto @@a’e} g8 Fagadom
IS HIodowgDdd.
=dmo (R): Z -1 DodEBhS agHosgH mod oo Mo wads 35 ﬁéﬁﬁ
(1) (A)$0ciw R)Bodr S5, (A) 8 (R) K28 H$6
(2) (A)#Boso (R)Doder 252, (A)8 (R) $35 Do 5o
(3) (A)5358. w2 (R) 5856 =k
(4} (A)%258 s°co. 0 (R) ¥058
Rough Work )
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73, Match the following with regard to ECG

wave/mterval of ECG Clinical interference
(4) '.Pmlonged Q-Tinterval = (T} Fast beating of the heart
(B) Tall Twave : (I) Block of conduction through bundle of His
{C) Shortened P-R interval () Hywpothyreidism
(D) Variation in QRS interval (IV) Enlarged atria
. : (V) Hyperkalemia
ECG 2 Homododd So0d a8 addssad.
~ ECG édotio / eoddo BO¥S eliusran
(A) 29,8 By #od Q-Teoddo (1) Ssodfcns dch Hodaes
(B) 2o T-d6otfo () 2088 85 &6 Too wth Bodw SHdes®
: _ w35 g
(C) 885 ¢od P-Ruwodgdo (1) Tirgocndeo
(D) QRS®offos® 3oerges  (IV) "BAS 508
" V) T8sdmasr
A B C D
() V NV I I
2 I N V. I
@ m v o1 1
4 m VvV I 1
74. The number of taxa preSent within a particular area or an ecosystem is
o - Diversity ' (2) B -Diversity
(3) v-Diversity ' ' {4) &-Diversity
8 A3 Poso By darsde gt @) trey
(1) o-3ddg0 ' (2) B-32850
(3) y-Bosg0 (#) 8-3o4g0
Rough Work
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75. Assertion (A) : In-situ conservation is an ldeal'cnﬂﬁewatinn strategy for Biodiversity
Reason (R) : Tt maintains recoveting populatmm in the surroundings where thf:y have
developed their distinctive properties.
(17" Both (A)and (R)are correct and (R) is the cofrect explanation to (A)
(2) Both(A)and (R) are correct and (R) is not correct explanatmn 10 (A)
(3) (A)istrue but (R) is false
(4) (A)is false but (R) is true
afdo (A): - #332dg BodEwd* é;’:‘a%;’: (In-situ) SotEm gl dgrdo.
womo (R): & Hodge S §‘m§ooéaa.;":—°1 aaa:r'erm 8 155355 oFmren Fodd Sin
e FOSE déoﬂia:cée“o:o
(1) (A)Sbam (R) Bodr $BGHES Hodcko (A)8 (R)HDS D55
(2) (A)Sboi» (R) Dok 585053 2 (A) 4 (R) 538 236w 5%
(3) (A)%238 5 (R) 8T8 =
(4) (A)&os5e 36 50 (R) 5958

76. Identify the correct match between list I and list 11

List-1 : © List-II
(A) Pisiform bone () Ruminents
(B) . Fibrous cartilage (I} Wristbone
(C) Hyalinecartilage ~ (I) intervertebral discs

(D) OS-cardis (IV) Larynx
(V) Pinna

D08 e wESdNes. .

s88-1 | 58811
(A) DHFS JswE () B06H5h sodsgen
(B) dodsusnd Soyfoery () SoeBEly B

Q) sorg Spberd - () soss 5358 SBEw

D) 65 &5 | | (V) S8 g

| - (V) B &Y
The correct answer is
HBE0S dirgrio .

A B C D
() 0 m v I
2r- v 1T 1 N
(3) W m 0Oo- I
@ Vv I m
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| Set Code | C
_E2 }

Statement (S): White Adipose tissue is predominant in infants and has several small lipid
droplets and numerous mitochondria :

Reason(R):  White fatis metabolically less active -

f})”Bﬂth {8) and (R) are correct fR) is the correct explanation to (S)

(2} Both (8) and (R) are correct (R) is ﬁot the correct explanation to (S)

(3) (8)is correct but (R) is incorrect

(4) (8)is.not comrect but (R) is cormect

Ao (8): BHPoS® Bod 8wl EFE Emmroost ¥3EDG) PR DodrHen,
20T srooires grodron.

somo (R):  Beod) BN 23Bchd’ 8595 Boirioom okl
(1) (S) 308050 (R)Totkr 5003 fobase (R), (S) % £ Didw
(2) (8)boko (R)Bodsr 9853 &0 (R), (S) & 388 286m 5
(3) (S)%68@58 53 (R) SR8 T |
(4) (S)50@050 5 50 (R) HESSE

78.

Rough Work

Parents of ammocaete larva show _
(1) Paired fins - (2) Placoid scales
(Fr Catadromous migration (4} Anadromous mi grahon

VS SLYS wcr:g ooy, adsomy & ofardy wWrgd.

(1) &gotss Teren (2) FsanG a"'.!-m"m}.n
(3) SermESn Sod : (4) Ao@Sob Sed
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79.  Study the following and identify the correct match

Scientific name
A}y Draco
() Bungarus
(IIf) Piyas
{Iv) F"ipém russelli

Common name : Character

‘Flying lizard Cleidoic egg .
Pond snake Poisonous
Rat snake Non-poiscnous
Chain viper Non-poisonous

& 5ol TSt HOGHN udde HYodod.

_ ?lﬁaoﬁa RS
@ s

(D womrss
() erg®

(IV) S50~ 629
() O

rirdee TN '. . e ¥eoo

A0 00 Emon§ iy

b Kg | 24 Hekys0

B iy - DB6IrE By
Feot dgbomd DS ey

@ MV G Lm @ LV

80. Themodified cell organelle involved in the formation of cilia and flagellum

(1) Golgicomplex

5}/ Stigina

(2) Centriole
{(4) Nucleolus

F05 J00din Eagidn Dﬁaﬁrﬁdoﬁ' SHES rdroddin RFoBS Kwrodo.

(1) m™§ vobgo
3) Bmy

2} eosdogo
(4) Bogsrodo

Rough Work

— P
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PHYSICS

81. 60.gofice at 0 °C is mixed with 60 g of steam at 100 °C. At thermal equilibrium, the
mixture contams (Latent heats of steam and icg are 540 cal g1 and RO cal gt respectively,
specific heat of water = 1 cal g1 °€1)

(1) 80 gof water and 40 g of steam at 100 °C
(2) 120 g of water at 90 °C

(31120 g of water at 100 °C

{4} 40 g of steam and 80 g of water at ¢ °C

0°C 8¢ #de 60 riwe Sodd, 100 °C 3o 60 yrive dHE uI08* oI, a3
Shefb 3§ goin 08 w0k (D8 28 Sdan How HTer Stdm
540 cal g7 Hovaso 80 cal gl Has 28g0 1 cal gl oCc-Y)

(1) 100 °C 5¢ 80 yrisme d& Sidckn 40 risne He b

(2} 90°C 3¢ 120 rdwe b :

(3) 100 °C 3¢ 120 yriwe 36

(4) 0°C 3¢ 80 (rifaio b Hodos0 40 Tswe 58 690

£%. Two metal rods of same length and same meterial conduct a giver amount of heat in

4. 8 seconds, when they are joined end to end. But when they are joined in parallel, the time

%7 taken to conduct the same amount of heat under same conditions is

U Vel Sogost Babed, 18 269 Ko Dek Y Sfoss 250D DIFIL BadSTD
SNSRI =Ei8s, 8 wESS SEdo T BiRd SPods HH00DSE. ok, T
§God SSroslor 2EssasM, el Dopeod” @od HE¥l Somso wyor @SdBoiess

ééﬁ? .
ﬂﬂe? 2y 2s 9{,163 (4) 1s

83. A Camot refrigirator absorbs'h'eat from water at 0 °C and gi'ées it'to a room at 27 °C.
‘When it converts 2 kg of water at 0 °C into ice at ¢ °C, the work done is
(Latent heat of fusions of ice = 333x10% ] kg™) '

w8 §°0) 38088 hogo 0°C 34 Ao 48 %008 &) Fa0HEd, 27 °C 5 fo K08
250 V%08, wond & oo §°C 5¢ e 2kg AR 0°C 3¢ Ao Sothr RLeh TR
DohSohs 32 (Sowm Kdge 333x103 ) kg ) . |

(1) 25x10%) @) 82x10%1 &5 65.87x10° T {4) 92.52x10°7

—————— — P A
Rough Work
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¢

A metal bar of mass 1.5 kg is heated at atmospheric pressure. Its temperature is increased
from 30 °C to 60 °C. Then the work done in the process is

(Volume expansion coefﬁcient of the metal = 5x1073 °C-1

Density of the metal = 9x10° kgm™ '

Atmospheric pressure = 1x10° Pa)

Terdbe Dddo 3¢ 1.5 kg 855078 fo a8 5D §<§&)"ﬁ&ﬁﬂvﬁa @oc‘:&:évé eﬁ‘a&"q) 58

| &S 30 °C %08 60 °C 5 HOAB, 80AH 1

(6% o S0re Tg8'sS oo = 5x107° °C!
&% pogs = 9x10° kgm™

C Tedtem hdse = 1x10° Pa)

(1) 25x107J 251007 (3) 125%10°7  (4) 1.25%107 ]

85.

- The r.m.s speed of hydrogen gas molecules at a cettain temperature is 200 ms!. If the

abselute temperature of the gas is doubled and the hydrogen gas dissociates into atomic
hydrogen, then the r.m.s speed will become

of RS 3¢ TE'eS ok wmde tms 58 200 msTL ey S6S ddgist

Do BOSHI oo m@‘aﬁ Rale WU m@‘mﬁ SESreargesm a&&ma‘:@&o a8
rm.s S&

(1) 200 ms! /(;;/ 400 ms~ (3) 600 ms™! (4) 800 ms-!

86.

A train appmachm.g a railway crossing at a speed of 180 kmh~! sounds a short whistie at a'

frequency 600 Hz, when it is 400m away from the crossing. The speed of sound in air is
340 ms-!. The frequency of the sound heard by a person standing on a road perpendlcular 1
the track at a distance of 300' m from the crossing is

2§ Jew, .8 08¢ Fhofie 180 kmh! 568° Hiubie, hofite 400m Srcoet Sy s

600 Hz &r6:98g0 o 0) Soso-Bod, mOS* §30 Jto 340 ms Fhof HotR doo
Airods vowam 300 m srsos® Heo S‘dg Dond ) 28 558 AN & TEGSgo
(1) 680 Hz (27 480Hz - (3) 40Hz (4) 50.He

87.

The transverse displacement of a string ¢lamped at both ends is given by

[ 2mx
¥(x,t} =0.06sin [TJWS@?“, where x and y are in m and t in s. The length of the

siring is 1.5m and its mass is 31072 kg. The tension developed in the string is

2mx
Body B¥de Aot o S0P 8ISE FlEord) y(x.t) = 00691“[ 3 )0056%1:
& Srdidgam, 'aé;g,d X, yes mesttd s HHD. & o AP 1.5 m Soboin EHgod

3107 ke, @ So@S* Dyds S35 .
(1) 81N 2) 162N - (G BN 4) 180N
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C

A convex lens ismade of a glass of rcfract_ive index 1.5. The radius of curvature of each of
its surfaces is 20 cin. Then the ratio of the power of the lens when placed in air to its power
when immersed inside a liquid of refractive index 1.25 is

w8 oogrsl §hady) 1.5 58S hndo Ko mwdt doirh B, 82 Bod SHo8

wi ST S FTgrgo 20 em. 9 ohiodh HodiHds Kay rdogrsdE Bobain
T SRS fomo fo (@S08® 50005 T FHgg08 o DA

75 @) 522 3) 3:2 (4 2:3

89,

In a single slit diffraction experiment the first minimum for red light of waveléngﬂi 6600 A

coincides with the first maximum for other light of wavelength A. The value of Lis
208 HPs DEES BBrdos® 6600A efdoﬁggngoﬁw 258 sosE DOYE Bt
SZ0, h $8oK FEgo do HES 508 5T I Kogos’ 284108308, sand L deod
(1) 2200A (2) 3300A - = (3) 4400A {4) /S/QD&A

90.

" An inclined plane making an angle 30° with the horizontal is placed'ﬁ uniform horizontal

electric field of 100 Vm~!. A particle of mass 1kg and charge 0.01 C is allowed to slide
down from rest frotm the top of the inclined plane, If the coefficient of friction is 0.2, the
particle reaches the bottom of the inclined plane in 1 second. Then the length of the inclined
plane is (Acceleration due to gravity = 10 ms-2)

$z Sirostos' 30° Fmo Bigd) Tevdooss 100 V-l Ao $8reds DE68 Deogs

Bgos wom, lkg 65gee, 0.01 C eddforie vy ard) Do 28 D0s FodeoD
@i Sood 826G, S fomEo 0.2 Ko Tevdoc edoermd) e $we 1 wEHS*
Wo8 reo doln FEY. (bdody dedmo = 10 ms—2) :

(1) 1245 m (2) 1323 m - @) L1SIm - (4) LI72m

91.

G 6VIx10N, 300 () 6x107*N,37°

Apendulem bob of mass 80 mig and carrying a charge of 4% 1078 C is at rest in'a horizontal
uniform electric field 20000 Vm™. The tension in the thread of the pendulum and the angle

. itmakes with the vertical are (Acceleration due to gravity = 10 ms-2)

80 mg 835073, 41078 C esdide o ool Ao, 20000 Vin! B3¢ Ko o s&rcss
D508 Jehagd Yo S DT LB $HO. Soko S ESD g6 Sodaso vowod ekdh

E'0e0 (othely éesean = 10 ms2) o
(1) 842x107%N, 45° . (2) 8x107'N. 60°

Rough Work
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Seico] |
©

The capacity of an isolated sphere of radius 9 em is C. When it is connected to an earthed
concentric thin hollow sphere of radius R, the capacity becomes 10 C. Then the value of R is

9 om agrdo Ko o I &Y GuE), IFLS C S HrhE J0D0PndD
R rgrgdo fo 55 Handd ;‘beﬁ‘e’oeﬁ‘ SF “éo@ﬁ;’mm w0l BB 10 C
wond R Jend -

(1) 9em (2) 10em {390 em (4) 100 em

93.

A thunder cloud and the earth's surface may be regarded as a pair of charged parallél plates
separated by a distance h and the capacitance of the system is C. When a flash of mean
current 1" occurs for a time duration 't', the electric field strength between the cloud and
earth is reduced by

- S Hindd) wiio Dbk srdeod hcirdorﬁ‘ Ho eBIHroE dods Airosd a’wémn‘*

grdowro. & Sg5% RS C. 15680 Dgd Parired’, (Foodrin Dol JoSESHE
odord8, 2ré Hody o ddgs i BPds snde
| it . Cit

n = @ cit o @

C

- 94,

Three resistors of resistances 100 €2, 200 © and 400 2 are connected in series with a cell
of emf 7.8 V and negligible internal resistance. A voltmeter of resistance 200 O connected

across the two resistors 200 Q and 400 Q scparate]y reads Vy and V>, respectwe]y/,

Then V5, -V is equal to
100 €2, 200 S0 400 O nﬁ‘daﬁnm o 3 A8gTed 7.8V DefagoneE weo

- Sbcko DXy lodd] wodd)S o KBRS &f HotrRE P’ S0, 200 £ D8'G0 Ko el

Jey odacdo 200 2 Sbasw 400 Q o s ok DADAT EOLIY ©d ESSwm,
V] edchon Vz 6&0?{:‘6"&) ﬁ?ﬂ_?Q.Vz - Vl Q0D
(1) 44V (2) 33V (/3;/.'2.2v 4y 11V

95.

A uniform thin constantan wire of resistance 'R’ is bent like a circle. P and Q are two points
on the wire such that the arc PQ subtends an angle 8 at the centre. Effective resistance
between P and Qis

R 8850 fo €68 $30 535 b ;s;po 58 Sodath. P bt Qen B e
Bod Dodder PQ obsn é&é Bawhion S¢ 95‘90;5:0:-53 Bi08. B, Q o Hgy H08
[ Bo

RE, R& }/ RY |
0 @6 @ T3« (ZfE ) (4}_;5(2%9)
Rough Work I n
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96. A pair of stationary and infinitely long bent wires are placed in the x - yplane as shown in

the figure. The two wires carty currents of 4 A and 9 Arespectively. Ifthe segments D and
A are along the x-axis and the segments C and F are parallel to y-axis such that OB = 2¢m
and OE = 3 ¢m, then the magnitude of the magnetic induction at the origin 'Q’ is

(ko =4mx10~"Hm™)

PO LBS® &f) wF0SE PEH EOAS wf ad SoIwdS Sen x -y SoBwe® Hhdus®
SrDS DEOT woELD. Doty LS ST 4A 5000 9 A DEogs BITOTEOHE.
OB =2 %0.a0 $0aso OF =3 0.0 ol dForr D 50050 A gremen ¥ - Lo,
C 38as0 F ermen y - afosk SSmoddSwm B3 @cm@ Saredod O Sod

VoS08 BE (RO 505000 (g = 4zx107 Hm ™)

| |C
(1) 4x10-5T P
(2) $%10°T —__2D E 10 M
BY6x105T S : . A
(4) 2x10°T ' !

F

97.

A current carrying thin uniform wire of Iength '4/ is bent like a square so o that it produccs a
magnetic induction B, at the centre of the square. When the same wire is bent like a circle, it
produces a magnetic induction B, at the centre of the circle. The ratio between B and B, is

4 @dPhio, Dekopd BSIrBP) DEBS Biifo SEEBI0IE SoREYd, FEES ot

3¢ wchdnod (6w B;. o3 i Sse 58 S005:d Sy8 Jossosg e o
(268 By wond B S:8c%0 By e Sogs B

(1) =%:842 2) 8:x N R 4) 842 :

98.

The period of oscillation of a thin magnet at a place is T. When it is stretched to double its

lerigth and its pole strength is reduced to 7 of its initial value, then its period of oscillation is

28 Doodd vchnose Bigs rosn T FEH Joloden SHBaks iy déidn &

I .
DeniSt — £ SRt HIV PHEHIHB wod BI8S seo-

4 .
0 2T . J_ﬁ. T 5 25T
(1) (2) 2T 2\/5 (4) 22T
) 45-C T AM 2016
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99.

An electron revolves along a circular path of radius 20 em with constant ahgular

velocity, 120 rad s~ about an axis passing through the centre and perpendicular to the
plane of the circle. If the external magnetic field is absent, then the potential
difference between the centre of the circle and 2 point on the circumference of the circle
is (Mass of the electron = 9.1x 107! kg) '

C 20%a.B TeRGo Ao ¥ JyEred Srgo Fowd el Jp@;&: 120 rad s__lgﬁ ol SKos®

Sd oo ot e SyE SordE oomom b o SSom ROFIHI08. iy

eoonry o8 Gigo &55@5@653, s SEoe So00n oD HELD o wl Dok g e

PBYOE Foo {doig @S5 = 9.1x107 kg) -
(1) 369Ix107°V - | (2) 1.638x107%Vv -

100.
- power factor of the circuit becomes

(3)74.278 x 0y (4 2347x107°V
7 - ' —

1 i
The power factor of a CR circnit is —= . [f the frequency of ac signal is halved, then the
p NG Y

a8 CR Sodho Qo ariSagds g E ac So8do Doy, WPl Jifo BRSY
Sodbo S, oy Haso¥o - e

1 1 | 1 - 1
(1) 5 (2) N (33/";5' (4) ﬁ

101.

Relative permeability and relative permitivity of a medium are respectively 4 and 9, If
the magnetic induction field of the electromagnetic wave travelling in the medium is
4.2x107% T, then the magnitude of its electric field is

of dirdE AE Bdfgles, >hy OB SHIM™ 4 0o 9 6 SPSEos*
Baireddyd) ddogschdod ddoKe Do) wohamod how 4.2x10°8 T wowd e
#80805°? DS BB - .

(1) 42Vm _ : - (2) 21%108Vm™

£33 421078 v . (4) 2.1 Vm

102,

If the momentum of an electron is increased by P, then the de Broglie wavelength associated
with it changes by 0.5%. Then the initial momentum of the electron is

QOTD (GBIgRESE'D DKEe Py woddyd: oods ﬁda:_o@oi)::’: dros SGofigg go
0.53% SrHdood. el JOEH O G5gSKo _ |
(1), 100P, @ & &f 200p, (@ o
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103.

re
'

and when it jumps from 2nd orbit to 15 orbit emits radiation of wavelength 2. The
wavelength of radiation ¢mitted when it jumps from 37d orbit to 1st orbit is

. 28 DESrEYS” Joigdy 35 85 Sood 25 85 G853t A #doligd o o DEGatnds

Ao Bhod. 23 855 %08 15 555 drsich A, S60KBE50 Ko DECmI0 STE0
Bob. wowd 35 g Hob 15 5% e SrEsYd duado T H8dw SdonEggo

L : bty L)
Wiy @ @ 3a @ My

104.

Two samples of radioactive substances initially contain equal number of atoms. Their half

life times are respectively 2 hours and 4 hours. The ratio of their dlsmtegratlon rates after
12 hours is

Both TARPT oS & o.‘-cs'gm o SErd Dopgd® adireodo 100 ﬁra:lm: 8 epding
Seren H6Hm 2 Sidokn 4 fotoen. 12 fobo domed o8 Dind Gloe A8 '
(1) 1:4 gy/fz (3) 3:4 4 2:3

105.

The truth table of the combination of the logic gates shown in the figure is
Di0d" ol dfdodiry dodrdo S, TN

S —
_ 3}—~Y
A|B|Y A|lB|Y
0|00 01010
(y{1]ofo yfrlof1
{010 ol 111
1]11]1 L] 1] 1
AlB|Y A|lB|Y
A VO L N g|0f1
Br|1|e]o @ |1|o]t
0|]1(0 0| 1]l
1rfijo ]I 0
47-C | .. AM 2016
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106. A 50 MHz sky wave takes 4.04 ms to reach a receiver via re-transmission from a zr;éi{:ellite
600 km above the earth’s surface. Assuming re-transmission time by satellite is negligible,
the distance between source and receiver is about
(Velocity of wave = 3x10% ms~! and the radius of the earth = 6400 km).
Frerdfderd8 600 km 28338 Ke aaiare dacd 50 MHz e ses d5ok0 v BT
PIEE;Io T w8 CEEDE 608 4.04 ms HPI6. SHYE BwE JIEPE
F00 @ LEoSSNY WHTH, BIIE Dbk (THTIE Sgie Erdo Bododorm
(8501 3o = 3x10° msT, erangingo - 6400 k) o~
(1) 150km (2} 180km 7 170km (4) 190 km

. | b
107. Which of the following physical quantities represent the dimensions of S in the relation

x“—b : - ' .
P= » where P is power, x is distance and t is tifite.
T

" (1} Powet l'('2)' Surfacetension (3 orsional constant {4) Force

xz—b

P &535;53,1,_ X Brovd), tererd) Srdh P= ud Howogod® Mébessom

b .
. Brdod Aoy

(1) &Sagso (2) Sossgs (3) 2Broxs yooso () wwo

108. A wheel of circumference C is at rest on the ground, When the wheel rolls forward through
haif a revolution, then the displacement of initial point of contact will be

C SoipFes fo b Sfo DA S8 ©H8. 68 Svols BfEHhme G0, Fus
SrD Sead) Doty Mng, FIGoHo

i1 - ' | 11
n ¢ 273 @ g- 9/::\!(3%4 (49 ¢ ?E
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109. A body is projected vertically upwards with a velocity of 10 ms™ and another body is

projected simultaneoulsy from the same point with a velocity of 20 ms™! at an angle of —

0

with the horizontal. The distance between the two bodies after one second from the time of

projection is (Acceleration due to gravity is 10 ms2) _ ,
o8 095 10 ms 308" Do 2O SHH 6B Dot ob, 6B i

20 ms™! Sos® g8 SSrosTl % Fwod® piRo Bard. BiSe 323 £no S208 n¥

DER ddad v Jodh S B¢y Srvo
(tbdadsg $g6e00 = 10 ms2) |

() 10m Qﬂ/mﬁm (3) 20m (4) 2043m

110. A body is projected from the ground at an angle of 30° with the horizontal with a velocity of
20 ms~'. The magnitude of the average velocity of the body durting its ascent is
(Acceleration due to gravity = 10 ms~2) |

i  ®0b wf S0P §6u Shroduds 30° Fno Fhisky, 20 ms~! Akos* BERe
U Wm 5608 @ Sagd Do, dien Ftfo (Mg Scdmo = 10 ms2)

A 1Bms™ @ 3WBms () 4BmsT () SVBmet

L11. A bullet of mass 50 g moving horizontally with a velocity 210 ms ! gets embedded in a
block of mass I kg kept on a rough horizontal surface. If the coefficient of kinetic friction

- between the block and the surface is 0.5, the block-bullet system will move a distance of

before coming to rest. (Acceleration due to gravity = 10 ms2)

88 Hdmogdorr 210 ms~1 3Kost airedilad) 50 g dgorarie oF B §8n dirosy
Rosodoop &F) 1 kg Bigos Ko Dans* amhs) K0, alk, Sods Soby fo (8E
WEw Measo 0.5 wond, o 830y wBE 5553 HoRd FodS ™ Golrdoid Erdo
(¥ detmo = 10 ms?) |

(1) 40m (2) 30m 3 20m @ 10m

Rough Work T o
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' |
Crz ¢

Three masses m, 2m and 3m are attached with hght strings passing over a fixed fm:tmnless
pulley as shown in the figure. The tension in the string between 2m and 3m is

- (gis acceleration due to gravity)

P800 Srdd Ao m, Im Sobokn 3m o Hrde Wigonen Qg B2 iy oo
383 oed §w3’:aa&53 2m 58S 3m mrﬁgﬁu oSt ééﬁgéﬁ (g- rodods écleo)

@

Em]
E -
Eal
K) 6 mg @ 3mg (3)..2mg. @) 1mg

113,

A proton in motion makes head on collision with an unknown particle at rest, If the

. 4 _ .
collision is perfectly ¢lastic and proton rebounds back with — of its initial kinetic

9
energy after collision, the mass of unknown particle is .
(47 Cqual to mass of profon (2} Twice the mass of proton
(3) 3 times the mass of proton (4) 5 times the mass of proton

ti5aoes” &N uE @S Vopdd® o o8 8DAHI $008° Swgrsnd edirdo 26508,
¢ oDirdo Sodrg RBTIEC WOWH GPITEC SHod FrS TD FO KOnILs

4
o 08 fda ¥§8 IDoEE H05DB, BOGRA ¥ ESgoed

9 _ _
(1) &S Kdgorel Sdmdo (2) @S ($55088 Bodky Déy
(3) s (53088 Lo B (4) ¢S @S.‘.’)g@%é 2 Bdw

114,

A block slides down a curved frictionless surface of helght 12 m and then moves up arough
inclined plane of angle of inclination 45°. If the coefficient of Kinetic friction between the
block and the inclined plane is 0.2, the maximum height reached by the block is

12 m 2egie o8 $odedd SEdeo Job ed HA0y BobE =0, T8 45° enfwo Ko
2 ﬁ&&mm,éuo 28 a0od. &33&63 Jren derdé 35:::55 :’T@é Jodee oo 0.2 eoud
© by D03 fop & =

G 12m - (2) 10m (3) 8m (g_)_ 6 m
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115.

- (3) Sms2vertically downward

|
K

Two blocks ofequal mass are released on two smooth sides of a double inclined plane with
a fixed base as shown in the figure. If each angle of inclination is 45, the acceleration
of the centre of mass of the system of the two blocks is (Acceleration due to
gravity = 10 ms™2)

~ 10ms2 vertically downward
(2) 10ms2 vertically upward

(4) 5ms2vertically upward - | _ _
RArS @agorae dods Banod Sdod® SrHE Ao FODE Wrodn §OA Jods SHe

oy Tron doren e BreD W0 Sdo, 288, 29 Teb@o 45° wond © Todh
B30y (@95078 oo ok, dgsasn (hdady Emin = 10 ms)

() 10 ms‘_z 88z wonom- |1EoHE |
(2) 10 ms §&es womoir 8
(3) 5ms g8z vonom §ods
(4) 5ms248m womorr 8

116.

Three particles are attached to aring of mass m and radiys R as shown in the figure. The
cenire of mass the ring has a speed V, and rolls without slipping on a horizontal surface.
The kinetic energy of the system in the position shown in the figure is '

m @SSgora R Tgardo Ho w¥ Dol Srd Swroh dLod® Gros dgomr @l
Bl (55078 o Bifo Vp. oy §8m Hirod Swod wEkoa T8y SHSLES
Sbod® Srbd R8T e 553 (8 7 ' |

1) 6mv?3 | -  om

A2Y 12’lmV02 - | sz\m |
G) 2mV3 o | |
@ smvd | - 777%"%"7

117,

When the length of a simple pendulum is increased by 36 cm, its time period of
oscillation is found to increase by 25%. The initial length of the simple pendulum is
{Acceleration due to gravity =98 ms2) = - .

28 siwdofc FEHD 36 am LodIHE, O ﬁ‘ba'aﬂg:-‘i o 25 aédo iBAoA.
oS eic &0 S8 {rodoes dedwo =9.8 ms<) ' ' o
(1) 36cm (2) 25em {3 64 cm (4) 46cm

Rough Work
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118.

Ea C
L2

The radii of a planet and its satellite are 2r and r and their densities are p and 2p respectively.
Their centres are separated by a distance d. The minimum speed with which a body should be
projected from the mid point of the line joining their centres so that the body escapes to infinity
is {G - universal gravitational constant) '

w8 [0 5V T BBEEo TgdTes SHET 2 Sobain T, Foder p Sbokn
2p, 8 Sopre Hodig drdo d 28 Sdi @ Todod Togres 500 Ip Kgy Dok
008 Jod EUH Fdod TE INOIDM® & 5HYH olod SrTdE Febod .

(G - 2 dodbeg HoroLhn) ' '

10Gnr® p

10Gar’p R Ty
(0 Yy 3g (2) J===2

] 3d

| 10Gnr3p_ | 1 I()Gazr3p
2| —| = F
@ g ) 4{_ ¥

119.

A uniform rectangular block of mass 50 kg is hung horizontally with the help of three wires
A,Band C cach of length and area of’2 m and 10 mm? respectively as shown in the figure. The
central wire is passing through the centre of gravity and is made of a material of Young's
modulus 7.5%10'9Nm= and the other two wires A and C symmetrically placed on either side
of the wire B are of Young's modulus 103! Nm~2, The tension in the wires A and B will be in
the ratio of ' , ' -

Beos” Erad agom S0 kg Bagrite w8 Q808 GEENErss 83y A, B, Ced fardd
Ao oo 8 dSrodlomr Jodbohndss. 58 A FEH 2 m So8c50 wi5'd

Frego 10 mm Sy 85 S Qa0 fbde &) o dod. B &4 ool Hmfo

7.5<1017Nm2 20083 Bodh Srics AZobokn Ceo B abh3ger Hir8 drdos® ¢52
Hodain T8 cHof Heedows 101 Nm=2 Afdcin B drod é3g80 38

LTI
.AJs B.ﬂ. }\.C

A

(1) 1:3 (@) 4:3 3y 5:3 ) 7:3

120.

Whern a cube is floating in water, 20% of the cube is outside the water, When the same
cube is placed in another liquid, 35% of the cube is cutside the liquid. The density of
the liquid g cm is _

DSt B Poddon 80 GHEpi Hodod® 20% A8 SerdE Jwode Wt ol Hoddn
S0 @S0s® BY eHSvd S 35% 1508 Iwodo Gof, |85 dogd gom ed

N L6 A 4
) 13 @) 13 | 20 W3
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121.

Set Code |
L2 C

CHEMISTRY

The correet statements with respect to bllmgham s diagram among the following are
(I) Magnesium reduces aluminium oxide below 1700 K

() Aluminium reduces magnesium oxide above 1700 K

() Aluminium reduccs magnesium oxide below 1700 K |

(IV) Magnesium reduces aluminium oxide above 1700 K

DP0MS> HE0odK HowoGod Bod TES* ID $TS JSeven?

(1) 1700 K 87 85,8 #3ise 5§ Sohacso, sargdho 56D goarsbotiom.
(]l) 1700 K som) 088 afuise 3¢ wergiabo, Bofhoo eFESH Foorsdoihio.
(D) 1700 K 87 8508 #yige 5§ vurpdaho, Aofipaco @@5.‘5&3 goorsdotaio.

(IV) 1700 K §57) o088 SPSe 3§ Jnhacsho, vorglicho 8565 oaridosis.
(1) ‘I&IJ (2) H&II (3) IM&IV (4} IM& 1V

122,

The Xenon compound which has more number of lone pairs in its centtal atom is |

TS Sddored® Sods méﬁrm@ DtS wHE Hopges® wobb QDO Zodeo KA dys’gl&
nB? A

{(1)» XeFg - (2) XeOF, . (3) XeF, (4) XeO4

123.

Insolid state, phosphorus V) chlorldc exists in jonic form with jions X and Y. The shapes of
ions X and Y respectively are

(¥)” X-octahedral, Y-trigonal bipyramidal (2) X-tetrahedral, Y-plane trigonal
(3) X-square planar, Y-octahedral (4) X-tetrahedral, Y-octahedral

;’3-{:965 (V) §2& o8 %@6‘ X 200050 Y aodrSed $OAS woirdE Srdost Goiid.
X %0805 Y eocirSe a5 e SKdT

(1) X-ogirs, Y8656 Bo6maS  (2) X-BErings, Y-sihso @ babo
(3) X-dhso deodpo, Yegimgs () X-Berimds, Yagimss

Rough Work
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124.

= Cl

|

Which of the following statements is corgect about halogens?
(1} They are alf capable of exhibiting more than one oxidation states
€2J" They aie all diatomic and form diatomic ions

-(3) They are all diatomic and form univalent ions

{4) They are all reducing agents

- PS'alol Honododd @oﬁ worws® $OGS D67

(1) >a8 @Qloéfjﬁ 288 08 J895 edEso ROl BasowH Togso Godd
(2) @l ol K5CESrmE vmoHes Sbcko AaESrenE woirSos oq}csmm
(3) an vy ﬁs;’;ﬁa’::neaaﬁ @EoPer Sodaln béada"wmﬁ @0‘5\?5&::‘53 é}q)cbr:i::i:-
(4) 22 o §o$a§6smm

125.

Identify A and B in the following chemical reactmns
PCIs‘i" H20 — A+HCI '

"A+H,0 - B+HCI
1808 Sara®d Sugus® A fdbato B e.:.‘\’n d:goﬁo&

PCls+H,O — A+HCI
A+H;0 - B+H(Cl -

(1) PCl;,H;PO, _ 257 POCI;, HyPO,
(3} PCly, H;PO, (4) POCL, H;PO,

126.

Which of the following complex compbuﬁds is not coloured.
o 5ol Bogy ddyfTod' Job B28 H6? o '
(Ir \Taz{CHCh} (2) NapfCACL]  (3) KyFe(CN)g (4) K3{Fe(CN)g)

127.

When MnQ, is fused with KOH and KNO;, a coloured compound is formed, the product
and its colour is

(1) K;MnO,,Green - . & KMo, Purple
(3) Ml]gOg,,Blue : - (4) K3NI1102 Red

MnO, % KOH %o8din» KNO; & Kogo Bﬁ‘:a’:@& goiy ﬁa’a 563359‘260 Dd.)dsc‘(n &

Sdyo 20850 D dofs D82

(1) KaMnOy, sson: o (2} KMnOy,thorson
(3} Mn,y03, d&&ois | _ (4) K3MnO,, 263

Rough Work
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128. Assertion (A): Natural rubber becomes stiff bv the vulcanization with éﬁiphur.
Reason (R):  Sulphur forms cross links at the reactive sites of double bonds in
vulcanization.
(MBOth (A)and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are corrcet but (R) is not the correct éxplanation of (A).
(3) (A)is correct but (R) is not correct. ‘ -
(4) (A)is not correct but {R) is corréct.

dnE5n (A): %0y68° 50 3RLS Dasow S dire Sb Hedsos.

s8mdw (R): Sy 3BLSS 62555'6"3} Sgpogre Boiried girre 5§ Soyd Hg8s8
' (cross link) wogrels Jgyhudo. ‘

(1) (A) So0as (R) Bode HO@E08D 0000 (R), (A) & HOFS DS0e.

2) (A) 00k (R)Bodr $0@052, 9 (R), (A) % 5008 d56e s,

(3) (A) 50058, 520 (R) $0@sc 5.

(4) (A) 565058 i, 50 (R) $653058.

129. Which of the following is a non-reducing saccharide?

(1) Glucose (2) Maltose | (3" Sucrose (4) Lactose
& Bod THS' fobEtmo Bosd TEBE D87
(1) ApFE 2) srg'E (3) wEF @) ogs

130. Artificial sweetener which is 600 times sweeter than sucrose is

(1) Aspartame (2) Alitame (3¥ Sucralose (4) Saccharin
'S 508 600 Bty Batogh God Y8 & s EESw.
(1) o535 (2) ©dB5 () WSS (1) 865
Rough Work
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131. Identify the name of the fcllnwing reaction, -

CH;Br+ Nal 2200, oy 14 NaBr

(1) Finkelstein reaction (2) Gatterman reaction
(3} Sandmeyer reaction 4y Wurtz reaction

& Bob S8 Dk HEows. -

CH,Br + Nal 202858 o CH[, 1 + NaBr

(1) ;:556‘35 s . (D) b5 s

(3) Folbans iy ' (4) &5E sy

132. ldentify the correct order of reactivity of the following towards the nncleophilic substitution
' o8 TS SrgfTrHOE HEESes iy Sogbedds Srdod DBEad 1ES00

' NO, NO, NO,
SR O SR G O-a
(1) |

@ & @

() 1>3>2>4 ' (2)_453::-2::1
(3) 3>1>4>2 (4) 2>3>4>r .,

.

133. Which of the following statements is ot correct? _
(1) Phenols are stronger acids than alcohols
L2 Carboxylic acids are stronger acids than phenols
(3) Alcohols are stronger acids than water
(4) Carboxylic acids are stronger acids than alcohols

& 508 DStmed® D5 ROGSE §meo?

(1) »orSen sen e ol aw@_..}é‘raa’rgm |

(2} songos viren dorde Sod OIS wipan
(3) weyHFSen 5 o8 5:&:@3?5 wires

{4) PURHOF siren, eao;:sﬁ*eﬂl'g gold aedd siras

— e — | — T ————

Rough Work

AM 2016

Qcollegeduniaé



134.

| e
L L2

Which of the following is used for puriﬁcation of aldehydes from impurities?

& fod THS* B BBAFID 8o HdTo %08 HY BA?

(1) HCN (2) NaHSO, (3) CH;MgBr (3 NaSO,

135.

The compound X on oxidation gives a mixture of acetic acid and form1c acid, while Y on
oxidation forms only propionic acid. X and Y are

X o JTopeols ehidme MY IBGE 6o Sboin ;5 vlos DoFio MG,
Y o ;’aﬁaé’ﬁﬁosﬁ: H%édwo TR PORrIE elie So@dh ks X $0cn Yes

136.

137,

Y

‘9/ CH; CH -CH; ©  CH;-CO-CH;,

OH - |
(2) CH3-CH,-CH,-CHO  CH;-CO-CHs
(3) CH;—CO—-CH, CH,—CH,—CHO
(4) CH;-CO-CHj,4 CH3*O—CH2—CH3
Which of the follomng on treatment with Br, / OH forms propanamine?
¢ Propanamide (2) Pentanamide
~ (3) Ethanamide ' - (4} Butanamide
1Sod 3¢5 BAD Brzngé‘ Wdp 2028 @ISWS AHtH0d?
(1) @33:8 . (2) DobSDE
(3) =S8 (4) mogtss
The following reaction is known as
AINSX™ QWO Cl+ N, +CuX
(1" Sandmeyer reaction . . (2) Wurtz - Fittig reaction
(3) Kolbe's reaction - {4) Gatterman reaction -

@ ol S SEgh Jvotrm?

ANG X —HE LA crt N, +CuX

(1) &Fo8Jooif Sy (2) 0% - DGR Suy
(3) sgy g | (4) THEDLS 563
Rough Work o o . o
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138. Which cne of the following sets of ions have same outershell electronic configiration? |
Eod waird SfrFod® O Hlrrestd wdird o8 dEHS e garon oS DT gAY

(1) Cr¥* M3 Fe?t

EOR BINCNT.

@

(3) Cr3* Mn?* Fe2* (4)

Crt, Mn3*, 'Ee3+

Crt, Mn?, Fe**

139.

An element has electronic conﬁglmtlon 152 252 7p5 3slinits +2 oxidation state. The formuia
. of its sulphide is

o8 Sorofo dwf, +2 ojideliss’ oo J}w[_s*ﬁ dargvo 182 257 2p% 3sL. & Sares

.06\5 D0, &da;}:'-

@ My, (W Ms; - (3) Ms; (4) M,S;
140. Match the following.
List-TI : List -11
Molecules Bond order, Magnetic property
A G 1) 1,paramagnetic
By & 2) 1, diamagnetic
C) B 3) 2, paramagnetic:
Dy Li 4) 2, diamagnetic
5) 3, dimnagnelic
& 1§00 T 28HYNs. ' '
YN R | 5435 - 11 |
_ . LY DO e:nod(é:bo, VoY 08 G810
A G ) L& wohimod &30
B) O 2) 1, 8oSr wokdm o8 80
C)y B 3) 2, 50 echimon G50
D) Li, 4) 2, dosr wokdm 08 &80
o 3 3,88 A o cﬁég_p
The correct answer is ' :
DOFS Lo
[f A B © @O
Py 3 5 2 1
N 4 3 1 2
3) 4 2 1 3
(4) 3 2 5 4
58-C AM 2016
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141,

Seicoae] |
12 ] ¢

.Which of the following is correctly matched?

(1) NHj - polar molecule with non polar bonds
(2¥” CH, - polar molecule with polar bonds

(3) CHCI;-polar molecule with polar bonds

(4} H,S - non polar molecule with polar bonds .

o8 TS HBIT 2EHETHEIE D87
(1} NH; - 088 motren @) @harmod

{2) CHy- 1508 woFrad &) Comrn

(3} CHCL; - o3 wotren 4% goarwas
(4) HpS - 1638 wogren @8 eghmmy

142.

Under similar conditions, 390 cm? af gas A of molar mass M, and 130 cm? of gas B of
molar mass- Mg diffused out through 2 porous container inthe time ratip of 2 : 1, The ratio
OfMA 1“_.MB is - o .

&8 65::3_5:‘5 ;’:5@@006‘ 390 em’ e W RB8Hrm0, Irers 16508 My 8o A o3 osnd,
130 em® & 53503700, Irem6 @553 Mo B od sauge sgddeee 2 |
VPG @S My, Mp o D8 )

(1) 3:8 2 8:3 (3) 4:9 4) 9:4

143.

The compressability factor (Z) for areal gas at its Boyle's temperature is

Tond SPAS 58 28 InTcnD $obES Hako (Z) o
1)y 1 gyo (3 >1 ) <1

144.

LA T @ 5

B0l 8Ty wairdE ShEBwod®

In the redox ionic equation,

2MnOj +Br” +Hy0 ~> 2MnO; + BrO; + 20H-

the equivalent weight of potassium permanganate of molar mass ‘M’ g mol is

2MnOj + Bt + Hy0 — 2Mn0; + BrOj +20H"

deerd Bhgore '™M'g mol~1 ge éé.r-hwaq ;’m"&od&_ﬁ Kooy, daergak ardo
| | M

Rongh Work
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145.

' ¢

Identify the correct statements among the following

(I) " Atequilibrium, change in entropy for a process, AS=0
(I Temperature is an extensive property

(II) For acyclic process AU = 0

(IV) During free expansion of a gas under reversible or irreversible condition, A #=0
Bob &8¢” DD BB Ik dmen?

() SHeps 55 Jo@s™s Srty, AS=0

) eigs 335 S6p

() Sfash GES AU 0

avy &@z,ﬁ:sﬁcﬁ: S eaéal;é&&’:aeﬁoﬁa é-ﬁ"ﬁ&@‘ 28 Sah0 rgEidodt, AW=(
(1) T&q (2) 1&IV Gr u&m (4) 1&II

146,

The molar solubility of a sparingly soluble salt M X, in its saturated solution at a given
temperature is'S". The correct relation between 'S' and Ksp ofitis (Ksp=solubility product).

NS S 3¢ MX, 0F soywrddabsiv obno Gt 3red osdabs 'S
BondT od '$ Htatn Kspo Sy Ko %Ogd Scmodo (Ksp = @rsdobe ©ggo)

1

Ksb' E . Q= KS]?.'H- .
| . S_(xx-yy) & xey¥
Ks x+3 .xx };y
( ) [ Ix _yy ] ( ) ) Ksp
147. The dissociation constant (K,) and percent of degree of dissociation () of a weak

monobasic acid solution of 0.1 M with a pH=5 are respectively
01 Mmrgs fo 28 grdd o Sng, pH=3 @ouIHyd, Tl dDras gTofo (K,)
Ad@rzd vl Fdowy Shdr ' ' '

(B 10 (2) 109104 (3) 105102 ) 105 102

148,

The approximate mass of H,O,, present in 200 mL of 100 volume H,0, in grams is
200 2090 100 ps5588rns HyO; mrdasng Ko Hy0y ardio rines® Sodrdi

(1) 3 230 B 60 ) 6 i
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149. Which metal plays an important role in neuromuscular functions, interneuronal
transmissions, cell membrane integrity and blood coagulation?

EodTreD Soro oS, w088 Jrgtis BT, s DIFS HdxN o Kgspdost
SSop G S0 o D82
(1) Be (2) Mg B Ca (4) Ba

150. Which of the following statemems is not correct?

(1) The tendency to exhibit +2 oxidation state for Ge, bn and Pb is in the order
Ge <Sn<Pb
Carbon and silicon mostly exhibit +4 oxidation state in their compounds

(3) Leadin+4 oxidation state acts as an oxidising agent ‘

(4) Tinin+4 oxidation state acts as a good reducing agent

Bod S0t DB $ORIH 7

(1) Ge, Sn 5830 Pb o +2 esgagdeoﬁéa BeE8B “gardo B, SHdED0
Ge <Sn <Pb

(2) S $o00k0 WOTIw T JFTOS' Swegom H efiisn 582 @cscgod::s;

(3) +4 edysce R8S° BE wfiSodm HHgoHd

(4) +4 ufito F8s° 85 Do) FeHssSm HBBgowd

151. Inwhich of the following pairs, both of them are common greenhouse gases?

(1) Oxygen, water vapour 477 Methane, carbondioxide

(3) Ozone, sulphurdioxide (4) Nitric oxide, chlorofluoro carbons
' Bod acbhos® GIG° Bodr a‘.ho“dm @Sﬁ‘a RS TIN &:601:)9
(1) &S, 28 wdd (2) HES, 96\5&3‘%5

(3) &85, :50365&9335 (4) D6 €7Ys, FOPE SGhSen

152, Identify the correct decreasing order of prierity of the functional groups from the following
1808 BS® DB HOFS @3)0‘50 dorarie (Sopgo SH ESoo

(1) —CONHz, C=0, HC—O -CN _(,Z}fA—CON[IZ,—CN ~-HC=0; C 0
(3) -CN,- CONH2 ~C=0,-HC=0 (&) fCN,.—CONIrIz, HC-O,/C—O

‘Rough Work
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153.

- [Sercoe)
i C

Which of the following reactions is M correct?
)

I
(1) CH3~CH=CH,+HCl — CH; CH-CHj

) e
20,/ SoH | -
2K CH3_FH_CH3

OH

(2) CH;CH=CH, M

(3) CHy-CH=CH,+HBr _ Peroxide CH3-CH,-CH,y-Br

(4¥"HyC=CH,+Br, _ CCla | Be—CH,CH, Br - | N

& Bol Sdged’ OB $0%5h 5re?
cl -

[ ' . :
(1) CH3CH=CH,+HCl - CH;~CH-CH, _

=)
(2) CHy-CH=CH, M4/ 7, oy oy gy,

273K _ |
OH
(3) CH;CH=CHy+HBr *"2* _ CH. CH,CH, Br

(4) H,C=CH,+Br, __CCl s Br—CH,-CHy-Br

134,

Which one of the following has sp*, sp?, sp hybrid orbitals in the ratic 6:3: 27
% od B’ TS* 6:3 1 2 dLyBS* 5p°, sp, sp S0y sEEry wT00?

(1) HC-CH=CH-CH}-C=C-CH; (% HyO-CH=CH-CH, C=CH

(3) H;C-CH,-C=C-CH=CH, (4) H;C-CH=CH C=CH

155.

. T DB?

A cnmpoumi contains elerents X and Y. Y atoms form CCP lattice and atoms of X accupy
17 _' |
3 oftetrahedral voids. What is the molecular formula of the compound?

28 &lopwioss X abosw Y dorasen w0, Y dddraojes CCParos) Jeytdomn.
1 ' :
X S63ranigon 3 @ dod BErIrES Sogrela eE0Tron. Boud Ayt Gwk,

) Xy ?) XY @ XY,  (@yXY,
C

62 - AM 2016
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Set Code
L2 | C

Among the following gases which gas has the highest Henry's law constant, KH value in
water at the same temperature?

ed APRS 5¢ $od TENHeS® I Iy JBS* vEHE "m@ Qofosyaroso,
Ky densss 9 #08?

(L 0, @) N (3) H () He -

157.

-A 5% by mass of an aqueous solution of A of molar mass 342 gmol™' is isotonic with
0.878% by mass of an aqueous solution of another substance B. The molar mass of B in
gmol is

B8 (55078 342 gmol™ o A Ewg, 5% groTEo Ko zoESno, 0.878% w6 do
S0 08 Sago B cﬁooég, ae@‘;’moé‘ QVEIE Seardo 58 &obd. wows B Irer§
(EBS50°8 Dews gmol™! e

(1) 120 (2) 180 (3) 60 “ 90

158.

In the galvanic cell
Zn/ZnH(C)) // Cu*(C,)Cu

C,
E or-Een=+0.0591 V. The value of — - c, at298 K is

Zn/Zn?* (Cy) // Cu?* (Cz)fCu o regd8 S0k gy By, = +0.0591 V. 208K 3¢

=
c, TSNS

(1) 101 25 102 - (3) 1.0-*2 (4 10

159.

For a general gaseous reaction of the type R — P, if the initial concentration of R is double¢
halflife of the reaction is also doubled, the order of that reaction is

ThOS0 @-z‘yges‘ 288 Frém $85 RHPe*, R BwE), vl rEed Bdowy Ik
TR 0gAdS 700 SrT Yo BoNIYR®, © B8y B, Firose Dewd
1 o (21 3) 2 “) 3

160.

o X
The slope and intercept respectively of the graph drawn between log o and log P in respect

of the logarithmic form of Freundlich adsorption isotherm are

H x
[OSFES Erlod® (Pronc&OR BB 85800 log— % log P % AQS Sg-deos®
. S m

TN, WO moéma}i BO DD SG{

1 1 1
4)) n,log—[-{- ﬂf H,logK 3) logn,iz (4) n,logK
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